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The instantaneous values of alternating
current and voltages in a circuit are given
as

1
:=. £ sin (100 wt) ampere

1
e =777 sin (100 rt+ %) Volt

The average power in Watts consumed in
the circuit is :

m Y3
f”/ Vo LL.CF
1 —
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¢ 1 =
1
@) 3
N
1
@ 3

The power dissipated in the circuj
in the figure is 30 Watts. The y of R
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The dimensions of (p,g, )'1/ ? are:

1y [L71T]
C= L

(2) [L T_l] ﬁ:

o) [LI/ZTUZ ]
(@) [Ll/zT— 1/2]
An ideal gas goes from state A to state B

via three different processes as indicated
in the P - V diagram : '

IfQ; Qy O indicate the heat absorbed by
the gas along the three processes and
AU,, AU,, AUj indicate the change 1

internal energy along the three proces K
respectively, then :

(1) Qy>Qp>Qqand AU, =AU,
2) Q=Q,=Q; and AU;>
Q;>Qy>Qy and AU;>
Q>Q>Q4 and AU@:

To get an output Y
which of the fo

in given circuit
ing input will be

o

@: B C
(1 1 0 1
2y 1 1 0
3y 0. 1 0
4y 1 0 0

{Roto )—1/2 = famn @?ﬂ g

@y@

(1) 71T
LT

@) L1/2T1/2

@ [L1/2T 1/2]

Q@Hﬁ:sﬁ?ﬁﬂmﬁﬁ Hquifya 1 FRY:

Qy ¢ Qzﬂ’JTQ33ﬂI mﬁﬁéﬁsﬁﬁﬁ LICCCE]
AU;, AU, 391 AU, R

(1) Q3>QZ>Q1 AT AU, = AU, =AU,
(2)  Q=Qy=Q, T AU >AU>AU,
(3) Q3>Q2>Q1 qun AU1>AU2>AU3

few T oftwy # Frfawd Y=1 9@ $0 F
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Two metallic spheres of radii 1 cm and
3 cm are given charges of —1x1072 C
and 5x1072 C, respectively. If these are
connected by a conducting wire, the final
charge on the bigger sphere is :

() 3x1072C O C
() 4x1072C S e}
(3) 1x1072C @y . 'y
(4) 2x1072C R e

| Nals

Two radiations of photons energies 1 eV
and 2.5 eV, successively illuminate a
photosensitive metallic surface of work
function 0.5 eV. The ratio of the maximum
speeds of the emitted electrons is :

-
1) 1:2 e
ke
2) 1:1 Loy~
Sy ‘r r
(3) 1:5 v
j—’ /_1%! N
4 1:4 ~ ' @
The moment of inertia of a unifortrc lar

disc axis

is maximum aboug-{z
perpendicular to the disc passing

through :
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10.

11.

A train moving at a speed of 220 ms ™!

towards a stationary object, emits a sound -

of frequency 1000 Hz. Some of the sound
reaching the object gets reflected back to
the train as echo. The frequency of the

° E—

9. frel fer ay =t GﬁIZZOm::%'cFﬁTﬂ@
w@dl g uF 37 1000 Hz e &1
Se B 7 1T A F g umsd

echo as detected by the driver of the train 21 7@, T % eER gW

15 ; ) e 2 —

(speed of sound in air is 330 ms “1) wfereafT t 311<'=1ﬁ'l &t :

1) 4000 H (s T =0 A et = 3@5”) |

W ‘ Vyzoe > (1) 4000 Hz Q ,

(2) 5000 Hz Vet | 3BE 2) 5000 Hz (9 S

(3) 3000 Hz S vy — 49 33000 Hz v

/:ﬁ * (.5 ty

(4) 3500 Hz 2 (4) 3500 /;\?r j;’jf

S)

The half life of a radioactive nucleus is
50 days. The time interval {t, —t;) between

the time t, when - of it has decayed and

N

() R 65 W v o o a0
Gy w2 w3 s 0w

3 S
1 mim%aﬁaﬁﬁ%wq,mw
the time t, when 5 of it had decayed is : 3 . _
, = ST, (b, —t) BT Ao

(1) 50 days __'i_irf @ —9/ 50 fe Q__;.i}}h
{2) 60 days >

2= \ (2 60 _
() 15 days % @u@ @ 15fa 5 sl
(4) 30 days 2

. g@ (4) 30T

N

A car of mass m is v
circular track of radius
the static friction
tyres of the car, the

¢ on a level

If u, represents
en the road and
ximum speed of the

car in circular motion is given by :
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13.

14.

12,

A circular platform is mounted on a
frictionless vertical axle. Its radius
R=2 m and its moment of inertia about
the axle is 200 kg m?. 1t is initially at rest.
A 50 kg man stands on the edge of the
platform and begins to walk along the
edge at the speed of 1ms~! relative to the
ground. Time taken by the man to
complete one revolution is :

m T
w T, b C
Cpeuy = IO
@) 2ws = o oo
. PRI X2= & Y
o e @ P A
- - e
(4) ws SFY 9}7;
/

If the momentum of an electron is changed
by P, then the de Broglie wavelength
associated with it changes by 0.5%. The
initial momentum of electron will be :

P N
(1) 400 P P = £ @

® 5% Pl _ 8
?3) 12(;):19 /‘5"— %i,@%

(4) 200P

these are related by :

If v, is escape vel@y and v, is orbital | 14-
velocity of a satzz% or orbit close to the

earth’s surfac
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15. The equation of a simple harmonic wave

is given by :

T =
y=3siny (50t —x),

where x and y are in metres and t is in
seconds. The ratio of maximum particle
velocity to the wave velocity is:

%‘rr | V'1 ’ﬂ\)
o AWED

3 q

2
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e
¥z

4) 2w

16. A proton carrying 1 MeV kinetic energy is
moving in a circular path of radius R {

uniform magnetic field. What shoul

circle of same radius in the same ([

1 MeV

A V' —
g 2o
~

bg®
ire placed on the x-axis :

iwin, 500 g at x =40 cm and
=70 cm. The distance of the
mass from the origin is :

0.5 MeV
4 MeV
2 MeV

17. Three ma

300 g a
400,

cern

45 cm
o

(2)

3

- (4)

50 cm
30 cm

40 ecm

o
1y
st

f ~ b

15.
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(1) 1 MeV
2) 05 MeV
3) 4 MeV
4) 2 MeV
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18.

19.

20.

In a coil of resistance 10 , the induced
current developed by changing magnetic
flux through it, is shown in figure as a
function of time. The magnitude of change
in flux through the coil in Weber is :

i (amp)

4

0! 01 t(s)

1
(2
(3
(4

R
@ = NN

A parallel plate capacitor has a uniform
electric field E in the space between the
plates. If the distance between the plates
is d and area of each plate is A, the energy
stored in the capacitor is :

(1) E2Ad/e, ‘ @

1
(2) <& E2Ad

2 o]

(3) &,EAd 5@
1 @

(4)  Se,E? <§

A car of mass m@@om rest and

accelerates so t e instantaneous
power delivere he car has a constant

magnitude P instantaneous velocity
of this ca10 roportional to :
1
f~ Y
- (‘;/[} B
— bl 7
Jm - v -
) t2P0 A F e
NN S
v/‘// CJ/"
-

9 D

18. 10 O fadiw &t T& FHscit A, 369 Gug
FEHE TR & GadT § I forg

F T ¥ Bod % w9 | fad w
gy feeam mar 71 fﬁ,w?ﬁ?ﬁa&g
T ¥ yfadq 1 aE (FaH)

i (amp)
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21.

22,

Which one of the following plots
represents the variation of gravitational
fleld ona partlc[e w1th dlstance r due to a

The input resista ﬁa silicon transistor
is 100 ). Ba fent is changed by
40 pA whic@su]ts in a change in

collector ¢

v 2mA. This transistor
ommon/emittet amplifier
esistance of 4 K(). The voltage

(1) 3000 Thz Yarr
. e | (2 4000 L=
- M 5P (3 1000 @
2000
o Y Lan,

10

21. ﬁwrmmmm)ﬁwhm@lz L
e ¥ fom

22. foedt Taferes zifsreet =1 frawr whdim 100 Q
#1 ST o 40 A % TR A wen
T A 2 mA F1 9fEd g §1 3w gt
&1, IETS-ITiwm-vad®s F w9 7 4 KQ
Eﬁguﬁﬁa%maWMW%m‘r vates
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23.

24,

25,

11
For the angle of minimum deviation of a d 93
prism to be equal to its refracting angle,

the prism must be made of a material
whose refractive index :

lies between 2 and /2

8 Vq(\ 1S

is less than 1

is greater than 2

- lies between /2 and 1

The transition from the state n=3 ton=1
in a hydrogen like atom results in
ultraviolet radiation. Infrared radiation
will be obtained in the transition from :

32
452
43

21

A rod of length 1 G/
principal axis of
tength 10 cm in
closer to the

mirror. The(l

lies along the

ve mirror of focal

a way that its end

is 20 cm away from the
th of the image is :

@ (1) 'f’:iﬁ

D

ﬁ:;ﬁﬁmiwﬁwaﬁmmmw@

Ez@@m,ﬁm@@
5
@

23R 53 F =

(1)

AT et 4T A n =3 s
& n i rereen A T A SO
BT %1, g T d s

— \1__ Sl

452 7 \)

Ly

433 4
be—

21 W
Y
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4

mm 10 cm FId U &
UF IEdd A" H TET A ECE 31’;[&'513'3
THR T T § o B8 &1 U % yd % e
T R, 9 G 20 e U1 A, Wit
qEE e

Q
1)
@;‘ { '7_—[’ J» (1) 15 cm
@Y\ 25 cm T -
P 2RUS @ ey,
5 .
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26.

27.

12

A slab of stone of area 0.36 m? and
thickness 0.1 m is exposed on the lower
surface to steam at 100°C. A block of ice
at 0°C rests on the upper surface of the
slab. In one hour 4.8 kg of ice is melted.
The thermal conductivity of slab is :
(Given latent heat of fusion of
ice=336x10°] kg™ 1) :

(1) 1.29]/m/s/°C

(2) 2.053/m/s/°C

(3) 1.02]/m/s/°C

(4) 124]/m/s/°C

C

&

A stone is dropped from a hei @ It hits
the ground with a certain entum P.
If the same stone is drop om a height
100% more than the s height, the
momentum when it the ground will
change by :

1) 41% @© %\(’/ﬁ'

(2)@%95

O
) 100%

(4) 68%

26.

TR & TF WiE (i) FSTwE 0
%Sﬁimﬁ‘ﬂzﬁtﬂ.lm%l TEE

(q3) 100°cﬁuma;m¢ﬁ§1waﬁ
TR TdE WO°C F 5 &) it ®1
A R F48kg
o & HIA F D
8@, TR ¥ wiE

St ®1 afg
/36x10°J kg ™!
arARdl B

L

(2) @/m/ﬂf

@@:02 J/m/s/°C
@

@ (4) 124 J/m/s/°C

27.

U% TeeR F1 h S5 | iR o €)1 qg wam
P& y-del A ZHTA 2, AfE T8 TR F, W
9T @ 100% AT S | AR S A
Y-e Q@ <HUA wEg 3% §aN ¥ gREdd
G

(1) 41%

(2) 200%
(3) 100%

4) 68%
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28. A cell having an emf ¢ and internal
resistance r is connected across a variable
external resistance R. As the resistance
R is increased, the plot of potential
difference V across R is given by :

29. A magnetic needle s@nded parallel to
a magnetic field res J3 ] of work to
turn it throu °_ The torque needed to

maintain t dle in this position will
be: ¢
(1) %
@) ¥37 A
§3
3 s ¢
2 e
-f}

4) 23] J/S‘ ]

& 7 @ fagga e 99 (LWIE) ¢
aﬂ?lﬁq?'ﬂﬁﬁ?lr_%l sﬂw
¥ fadi % = ste 7T 31 T
WWW?&,R%M%%% WV
Wa'!,_/@fﬂlé@: @

el Tromplg &% ¥ WU ALH LR
g &1 60° U ﬁf‘arﬁ]?ﬁﬁf E3
Savashal gt &1 o, 59 ¥ &1 g fefa

T3 TER & o stavas au-3y ()
T HH B :
m 33 @E° |
0w T,
® 3 >y
2 N&¥
2 25
@) 243} Q
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30.  The ratio of amplitude of magnetic field to | 3¢ frafa & gafm e faga Trasy ¥
the amplitude of electric field for an ot Srerer Sy :
R CIRGRIE L 3T
electromagnetic wave propagating in ferd, d &?ﬁﬁa;
vacuum is equal to : CLE R ggﬁn
(1)  reciprocal of speed of light in vacuum (1) frata § vermr & & T
(2)  the ratio of magnetic permeability to (2) frafa ¥ gt (Frerheiteran)
the electric susceptibility of vacuum LECH] vgia) & IR
(3)  unity + FOET
(4)  the speed of light in vacuum
& AN F FER
31. Read the following four statements
(A-D): =T Fol (A - D) i qfey
(A) In transcription, adenosine pairs £ e
with uracil. _ :T:f (;%@E—)-Q .-gs—gh
(B)  Regulation of lac operon by repressor @ i mﬂ-*———'—v L
is referred to as positive regulation. @ B) ﬁﬁE BRI lac YT & fama #
({€) The human  genome e fram wed €1
approximately 50,000 genes. (C) W S ¥ w50, 50,0005 7 2 b
(D) Haemophilia is a sex-linked recessiv. (D) Wﬁm s R %m e ST T
disease. @ 3 m——
How many of the above stater@s are
right? é@ mmﬁWEWHﬁ§7
(1) Three @ (1) jﬂ:‘ |2
(2) Four % (2) =W
{3) One @ 3) &
32. How man nisms in the list given (32, |4 & g | W St @ e ?
bel trophs ?
elow ar rophs ??ae?é%sm N @ Tt
Lactoba , Nostoc, Chara, Nitrosomonas, 'WEE"}&EET Q\Q? @%—&m
Nitr er, Streptomyces, Sacharomyces, ]
Trypanosoma, Porphyra, Wolfia :13____;3; 7 !.ii 7l @C@
o <
Five (1) u=
) Six 2) @ ;f e
(3) Three (3) @ ><J \v o* \
(4) Four ( E1E8 - e

e ————r e o S




33.

34,

35.

How many plants in the list given below
have marginal placentation ?

v @ 1l g |
Sun& , ColchXcine, O?{tm
00 g,fi" "I}o\?{tco upin

-

~

(1) Five
@) Six
(3) Three
(4) Four

As compared to a dicot root, a monocot’
root has :

(1)) Many xylem bundles v~
2) Inconspicuoué annual rings . @
(3) Relatively thicker periderm

(4) More abundant second@ xvlem v

A test cross is can@i to :
@ther two traits are

predict

linke@
0 .

(2) @he number of alleles of a gene.

(3).\\ determine whether two species or
varieties will breed successfully.

1)

determine the genotype of a plant at
F,.

33.

35.

.

D
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SreTEaTE AT e ?

(3) ordepa el uid

4) oo <% it aAfud ST

witenel Gorrw forg ferd fea St 82

(1) gasiwon w7 & fon fw 3T
( Fordroen ) weam € A L |

) fest < & Telel =t gen fita
0 & faqi
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Syl ToeTgEe TSI SN 41T |
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36.  Which one of the following categories of
animals, is correctly described with no
single exception in it ?
(1} All bony fishes have four pairs of gills
and an operculum on each side.
(2) All sponges are marine and have
collared cells.
(3) All mammals are viviparous and
possess diaphragm for breathing
(4) All reptiles possess scales, have a
three chambered heart and are cold
blooded (poikilothermal)
37. The rate of formation of new organ
matter by rabbit in a grassland, is cal
{1) Secondary productivity ©@
(2) Net primary producti\/g@
(3) Gross primary pr%t@vity
(4) Net produ :w@ @
O ¢
38.

In geneti@meering, the antibiotics are
used :0%
1 @elect healthy vectors

6

9©

38.

© :
as sequences from where replication
starts
(3} to keep the cultures free of infection .
(4) as selectable markers

O

Frerfefias & 2 wordi 31 7 %1 @ T 9o

%mﬁ«wi@mm
g ?

(1) (ﬁtﬁa:rﬁaa N S Feim
a1 G R - k3
(2 vt v ¥ o s iR
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fere o= zramEm (A9e) B

mﬂuﬂ@ﬁ e B 8, @ el
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39.

40.

41.

42.

T R . -

The secretory phase in the human
menstrual cycle is also called :

(1) follicular phase lasting for about 6
days
(2) luteal phase and lasts for about 13
days
(3) follicular phase and lasts for about
13 days
(4) luteal phase and lasts for about 6
. days

In gobar gas, the maximum amount is that

of :

(1) Methane

(2) Propane

(3) Carbon dioxide
(4) Butane

Through their effect on plant
regulators, what do the tem
light control in the plants ?

N
and

(1) Flowering @
(2) Closure of sto §£
(3)  Fruit elon i
(4) Apical ance
Whiclone of the following human organs
is 0@ lled the “graveyard” of RBCs ?
id
( . idney
Spleen
(3) Liver

(4) * Gall bladder

17

TE AEE-9% B urEl S 9l Seo
1 T ag W W fewr S B, w9

et o gl 87 j

(1) e T, T 6%0
(’Ez) rafig e, @ T*

39.

B\
@41. Ty g =i h wsnfad Hts, qHM qa

epTeT el o et e ¥ 7
S I

(2) i w9 B

(3) G 1 I

(4) oY gy

faafafag § @ 1 o & "Rd 1§ S
T I R HRR HF I e
w2
(1) 7% (WD

w2y e (fae)
(3) =Fa (Fm)
(4) fmem -
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44,

45.

Which one of the following pairs of
animals are similar to each other
pertaining to the feature stated against
them ?

(1) Garden lizard and Crocodile - Three
chambered heart

(2)  Ascaris and Ancylostoma - Metameric
segmentation

(3) Sea horse and Flying fish - Cold
blooded (poikilothermal)

(4) Pteropus and Ornithorhyncus -
Viviparity

The idea of mutations was brought forth

by : _

(1) Gregor Mendel, who worked on
Pisum sativum

(2) Hardy Weinberg, who worked on
allele frequencies in a population

wide variety. of organisms during
voyage

{4) Hugo do Vries, who wo on
evening primrose

Select the correct st gent about

biodiversity :

{1) Large scale pl@g of Bt cotton has
no adverse % n biodiversity.

(2) Western s have a very high

degreedof\ species richness and
ende

(3) Co@ation of biodiversity is just a
u

(3) Charles Darwin, who observed%

d0 rsued by the developed
niries.
( e desert areas of Rajasthan and

Gujarat have a very high level of
desert animal species as well as
numerous rare animals,

18

1

S

()

4)

ared s, foe ot wag @ &

45. Stafafaum ¥ fawa § @ Ha i

Bt HYE & 9 =ATH W W I T
&, Safafevar w B Fuwe T8 =
fyeit et W A 3wl e
TR S A € W e are
IR = R
Safafara & s fawfam 29 9
A T T E

TSYH qe TSR % Aeed &
e & e R o forve ot o
g

46




46.

47.
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Plants with ovaries having only one or a
few ovules, are generally pollinated by :

(1) Butterflies

(2) Birds

(3) Wind
Bees

(4)

Consider the following four statements
(a-d) and select the option which ircludes
all the correct ones only.

V. e § fome ofewel ¥ 9w TF A
ah%@'@f?ﬂwqﬁaﬁ%mm
fore¥ gro B &2

&
(1) Feaferat ©§®
(2) ga&ft ol Q

_or ™

(4) ‘4

FoAl (a-d) W fFER Fifag
Héramﬂﬁwwﬁﬂ

JW%%?%;

(a) Single cell Spirulina can produce @ .
large quantities of food rich in a) T HHE i‘_____iisiiiJSEJFilé&_I 1, @,
otein, minerals, vitamins etc. ferarfil onfe | YRqT SIS =1 8t 7w
Pt = —
# SeEA L WA ¥ —
(b) Body weight-wise the microorga%%f _
Methylophilus wiethylotrophus e (b) é‘s’-waﬁq&@gamﬁa Faesenfrerd
able to produce several t ore ﬁmgﬁﬁ—,{ S 1
proteins than the cows y i .
Q SR 1 Tl & St W e el g
(c) Common button \é@oms are a () T T T (afiret) forafiv C
very rich source ohwitamin C —
F TH Tgd A A T
(d) A rice var een developed T
which i 1s v 1ch in calcium. (d) o Q%ﬂ = 1l @
forerd ogA B Yo
Options : L
P o @ faweq: —-

and (d)

) ents @), (c)
%Statements (b), (c) and (d)
Stétements (a), (b)

()

{(4) Statements (c), (d)

1) w @Yo AR @)

@) 9 (b), () ("
A @0

@ w8

-
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49.

50.

51.

- Which one of the following biomolecules

)

is correctly characterised ?

(1)

Palmitic acid - an unsaturated
fatty acid with 18 carbon atoms

(2)

Adenylic acid - adenosine with a
glucose phosphate molecule

Alanine amino actid - Contains
an amino group and an acidic group
anywhere in the molecule

(3)

Lecithin - a phosphorylated
glyceride found in cell membrane

For its action, nitrogenase requires :

(1) Light

@) Mn?* 1) W™

(3) Super oxygen radicals 3 22; Mr2+

(4)  Highinput of energy @ (3) W A Fewed
@ (4) = w1 3= Faw

Tobacce plants resistant to a @tode
have been developed by the intrgduction
of DNA that produced (in @ st cells).
(1) a particular hori\@e
{(2) an antifeedan@

(3)

{4)  both se% d anti-sense RNA

9

Wheré. certain  symbiotic
micr isms normally occur in human
bod

“Oral lining and tohgue surface

3) a toxic pro

) Vermiform appendix and rectum
©)
)

Duodenum

Caecum

50. I % YARH-TRAE Reff & 7 H DNA
T F T forwd (et S %
W)%ﬂ?ﬂﬁwﬁwgﬁ?

1) o fafire el

) T TABRET (o)

(3) uH faueE W

(@) e qon fa-a1ef A TR #1RNA

51. WA YR A 9 T qesitel Gasid qeia:
F%i 8 UE R § 7

NI) 7@ e ¥ ST ad Sy H A W
(2) e o qor e §
~(3) el (gaierm) °

Ay st (i) d

L]
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Identify the meiotic stage in which the
homologous chromosomes separate while
the sister chromatids remain associated at

their centromeres :
(p @)
o

(1) Metaphase II
(2) Anaphase I
(3) Anaphase II

(4) Metaphase I

Which one of the following cellular parts
is correctly described ?

(1} Centricles - sites for active RNA

synthesis

larger (80s) while those in
cytoplasm are smaller (70s) @

{3) Lysosomes - optimally acti = pH

(2) Ribosomes - those on chloroplasts @
e

of about 8.5

4) Thylakdids - flatte embranous
sacs forming @e grana of
chloroplasts

@

Cuscuta is ple of :
%

1) B parasitism

( @daﬁom

&

) Endoparasitism

.\ T i srefgeror s 2 2 frad @

HIHEH () Th g @ 3u &
wra fop G feed (H-Torg)
fﬂﬁaﬁ@iﬁﬁﬂm%@

O

(1) TEEE

& AfzAiTw (F $3) - THT RNA
mﬁw%wﬂ wE A

@ (2) TEEETE - FAITE WA 9 6
(80s) % T WEFAETA H T T BN
(70s) F EAE1 P

(3) EHIEIE - T 8.5 pH W HeT:
ofwa

AT AW - 9 e 4 < weR
ﬁaaﬂaeﬁm%ﬁmwﬂ%l

W(W)mwwm%;

(4) Ectoparasitism -

(1) YT GEitem

(2) TREE

(3) 31 wLSeEa
W T et
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The supportive skeletal structures in the

. human external ears and in the nose tip

are examples of :

areolar tissue

(1)

(2) bone
(3y cartilagé
(4) ligament

Read the following five statements (A - E@
and answer as asked next to them.

(A) * In Equisetum the female gametophyte

is retained on the parent sporophyte

(B)

In Ginkgo male gametophyte i
independent. %

(C)

The sporophyte in Rimore

developed than that @ trichum.

(D) Sexual reProduc%n in Volvox is

isogamous.

The sporehme molds lack cell
walls. : _

9

(E)

@o@y of the above statements
ar% ect ? -

(1 JThuee .
)} Four
(3) One

4) Two

B

55.

UHEl & <80 S 991 A &

T {9 FA (A - E) B feq o
aw’tt@nw% ¥R A

@@x) stTew A, A VT E
ey SEfie TS T R

ﬁa#ﬁﬂgrqﬁqfuamaﬂiﬁﬁmm

——

(B)

(©) - Rfaar ) oy SR SIAEFH S
]I & gor A 1y faefaa
s IR

(D) ey 3 s o wr A

Y %I

(E) mW%Mﬁﬁaﬁﬁmﬁrﬁi
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(1 @

() =R
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57. Identify the molecules (a) and (b) shown | 57. <9 fa@md W1 ® 73T (a) T (b) B
below and select the right option giving a4 ¥ B T I9ERT & fawg § wE
their source and use. ﬂﬁﬂl ﬁ@

»CHy
N O
5 _CH,
) h
H O
OH
~
(b)
O
I =

Options : %

faemew -
Molecule Source Use)
\v p—
ssant 31'01 'Eﬁﬂ' ag
. Cannabis ((and slows _ - TMHS du
() (b) Heroin sativ <Jown body M| ®)Res FwE! =y o
m functions 7 Herar _ SRS
A
& , faym 1
ol Comnainois | e | | | tes| T
@%) Hadona ons 2
- p Sedative Q/ (a) e 77_'9;3? WEIE H?T
(3)| (a) Morphi sogzgfjf;m andpain | | \H ~ | gEipwm | deAwe
kaller i ¥
C( @y Accelerates
. the ol - | eRgimmerm | aREE
(4) §) Cocaine kry th;];y tum transport @) ag - FIBT e &0 <@t
of )
. dopamine il




58.

59.

24
T?epfi%ure belowg*;fws t;ree steps ((tggizc)) 58) 49 @ w1 @ fa3 ¥ defim= R
of Polymerase Chain Reaction . -
Select the option giving correct (PCR) ?ﬁ_quB' AL T
identification together w1th what it Frefafea § & foa o= =
represents ? &1 1w W&t g T
Region to be amphfled ' Hﬁﬁﬁ'_ T S |
A IE_:D:?; ds DNA o A i:D:*I; ds DNA
§ : ? N 5'|||||| ’
5 TTTTETTTT &(I 1 5 % )
3.Ii-I||IlIIIlL JAL@IIIHIIIS.
5! » l 3 3
s FEN
C
3 5
¥ 5 5
Opti : .
(1? IORS— Denaturation at a temperature N .
 bout 50°C P @ ) WA - T 50°C F AoEE W fag
of abou AT Fefe
(2) C - Extension in the presence of heat W C- @ DNA S
stable DNA polymerase @ H faerm
(3) A - Annealing with two set@ 3) A- Al A T F Wy e
primers N &
(4) B - Denaturation at a tem@ure (4) B - o9 i «
of about 98°C separatir@i two forerd & DNA T9F 39% 8 T
DNA strands. 59. i R s @ w S A (), (b), (o) 7
Identify the likely organi: (b) {c)and (d) Shaurd Fn 8 = & wgeif
(d) in the food web sh ' -
llon i . A=
hawk S g
owls foxus snakes i R / \ \ /
frame  {c)
(C)\ ,
@
(b) ﬁ§i
mi grass spar row
& hopper \\ } / //
Vegelahon/ seeds
¢
Q\ (a) (b) (©) (d)
o @ [ » | © | @ 1 —
)| dog |squirrel | bat | deer S I 5-. S
(2)| rat dog |tortoise| crow (2) qﬁl T | FG i
(3){squirrel | cat | rat {pigeon @) |Frowl| faeelt | @ | FAR|.
(4)] deer | rabbit | frog-| rat \_,/(47 __%33 '@_’ﬂm ﬁjf*_ K
A
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62.

63.
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Which one of the following pairs of
substances, is correctly
categorised 7

(1) Pepsinand prolactin - Two digestivé
enzymes secreted in stomach

(2) Troponin and myosin - Complex
proteins in striated muscles

(3) Secretin and rhodopsin -
Polypeptide hormones '

{4) Calcitonin and thymosin - Thyroid

hormones

Vernalisation stimulates flowering in :

(1) Turmeric
(2) Carrot

(3) Ginger

(4) Zamikand

Green revolution in India oc
during :

(1) 1970's 5@

(2) 1980’s @

(3) 1950s <§

(4) 1960's @

A fall in gl i\tﬂar filtration rate (GFR)

activates

(1) “e al cortex to release aldosterone
~ -

(2renal medulla to release
adrenaline

o
} posterior pituitary to release

vasopressin -

(4) juxta gloﬁ\emle;r cells to release renin

4@ T 7 2 it forw R o ?

(1) 1970 % Twek A
(2) 1980 % = A
(3) 1950 % =0 H
(4) 1960 % <o A

63. I@hﬁm‘aﬂﬁ((:m)ﬁﬁm; M W
feprrant WfRART0 311 82
(1) e e (S dege) T
IR e fed
(2) g gen (e quA) F A
36Q e et o ”

@) W R (W) w1 s e
e e

B g@h;r;ﬂaﬁﬁmaﬁmaﬂ%

W fret |
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65.

66.

What is the function of germ pore ?
Absorption of water for seed

M

)
(3)
(4)

Which one of the following options gives
the correct categorisation of six animals
according to the type of nitrogenous
wastes (A, B, C), they give out ?

germination

Initiation of pollen tube
Release of male gametes

Emergence of radicle

A B C
AMMONO
TELIC UREOTELIC | URICOTELIC
Aquati
Frog, qua. c Cockroach,
Ly .. Amphibia, .
Lizards Pigeon
Humans-
@ Aquatic Frog, Pigeon, Lizards,
Amphibia Humans Cockroach
3 Aquatic Cockroach, Frog, Pigeon,
) Amphibia Humans Lizards
Aquati
Pigeon, qua. l_c Cockroac
4) Humans Amphibia, Fro
u
Lizards g@)

@)

Which one of the following se&é?tems in

the options 1 - 4 are correc
with one exception in it%

@c egorised

ITEMS  |CATEGO RY | EXCEPTION
Kangaroo, U
ralian
(1) Koala, upials Wombat
5
Wombat @5) P
Plasmo, s { Protozoan . :
(2) Cﬁg parasites Cuscuta
T oma
i1#/a)
Typhoid, _
S ) Bacterial . .
feumonia, diseases Diphtheria
Diphtheria
UAA, UAG,
(4) UGA Stop codons UAG

/@\J

: FEFAT,
ety Tnifaa e i
4) fﬁ@?nﬁa —— FEH, Hes
66. frfaied =r fawed (1- 4) 4 @ fam
fapey 4 fed Wi Y, u AR 9
& Aol F TEn T
" it A
(1) T ) ElL=rd
FIAT, e | v woft| —
o — | vemen
e | | e
= TSt
- IedaEm -
N((3) ﬁﬂ‘fﬁm, , b S I | fewedifar
] fewmeifea
UAA, UAG,
DN vca WAFe | UAG




67. Which one of the following generally acts
as an antagonist to gibberellins ? .
(1) Ethylene
(2) ABA
3y IAA
(4) Zeatin .

68. Which one of the following organisms is
scientifically correctly named, correctly
printed according to the International
Rules of Nomenclature and correctly
described ?

(1)  Plasmodium falciparum - A protozoarn
pathogen causing the most serious
type of malaria ‘

(2) Felis tigris - The [ndian tiger, well
protected in Gir forests.

(3) E.coli - Full name Entamoeba coli, a
commonly occurring bacterium in
human intestine

(4) Musca domestica - The commor&
house lizard, a reptile w

69. Read the following four stas
(A-D): g&

(A) Colostrum is recomm for the
new born becaus @is rich in
antigens. {

(B)

negative ba .
(C) Tissue cul as proved useful in
obtaini rus-free plants.

(D) Bee nufactured by distillation
% nted grape juice.
HowAn of the above statements are
o By
1), ¢ Three
Four
(3) ©One

Two

4)

27

Chikengunya @?\sed by a Gram |

D

67.

frotafaa 3 § 98 B9 9 TE § S e
R e B S

©©

&1 T fadH & w9 4 W w2
(1) vl

() ABA
(3) 1AA

(4)

68.

TR B T § AU e ' .
w?aﬁﬁ_ﬁ%? : }
\_A Plas d!@alcipamm - T TSI,
ﬁw%ﬂﬂﬁﬁw TR THR B
=
is tigris - WRH"\T[ETH, M FTe i
st geam

@ Ecolz-{{lWEWh,
Wﬁmﬁmw waﬁawn@

O
4) Musen domestica - HHA mw,

o wge o

69. ProAfafEd =m & (A - D) 1 wed
(A) Wﬁ?jaﬁm(ﬁm)w
f‘mﬁmma@qaﬂﬁ
gﬁwﬁxﬁuﬁaﬁ%ﬁ
®) ﬁwﬁmw&iﬂf@m
T M e

(C) ad gad A e 18 I
Y efveEe fos g e -
(D) aﬁmms—mﬁﬁﬁﬁr‘oﬁamw%

e Frr T

g w1 fhad S99 T § 7
A -

¢
(3)
@4 =




70. Which one of the following organisms is

correctly matchegﬁwb/rmt three
VT Ta

characteristics ?
w1sted aestiva

. p"‘!u‘b
6y
placentation, Berry

Tomato -
Onion : Bulb, Iantmn

Axile placentation £

n, Axile

Maize : C; pathway, Closed vascular
bundles, Scutellum

(4) Pea : C; pathway, Endos¥ermic

" seed, Vexillary aestivation

71.  The second stage of hydrosere is occupied
by plants like :
(1) Typha M
- s
(2)  Salix s @
(3)  Vallisneria ' @
N O
4)  Azolla 5@
72, Which one of the folloagg statements is

correct with respec munity ?

(1) The antib against small pox
pathog are  produced by
T-ly cytes

(2) es are protein molecules,

of which has four light chains

(3)\ cRejection of a kidney graft is the
function of B-lymphocytes
(4) Preformed antibodies need to be

injected to treat the bite by a viper

(4) q‘%@mﬁ{ﬂﬁq’hﬂhéﬁﬂﬂﬂ
j@mﬁ@ﬁmﬂww
e TR €, N fi

@ 1 emw |
% . -~ !t._‘mf
j @) @ /:i)
(3) Aerwify —
(4) ¢ e
ittt & "eod A frefafas § @ s @
FUTHE R ?

(1) 99% F WS F AR F gfd tetareits
- (ofafiE) s T - T |
g

yfafis (Yere) dem 37 2 %,
ﬁﬁﬁ?ﬁﬁﬁﬂﬂ—ﬁﬁ%ﬁﬂ?f@ﬁdﬁﬁ
g

'WMﬁWW@WEWﬁ
FFE R &

\)4‘{ Ww L
A~ Wi (wfafiet) o o

(2)

(3)

snake

fean s =t 31
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73.

74.

75.
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Which one of the following represents a
palindromic sequence in DNA ?

(1) 5 - CCAATG -3’
3' - GAATCC-5' ~
(2) 5 - CATTAG-3¥
3' - GATAAC - 5’
(3) 5 - GATACC -3
3 - CCTAAG -5’
@) 5 -GAATTC-3

3' - CTTAAG - %

For its activity, carboxypeptidase
requires :

0
(2)
(3)
(4)

Iron
Niacin
Capper
Zinc

Given below is the diagrammatic sketch

_of a certain type of connective tissu

Identify the parts labelled A, B, C and{®;
and select the right option about thém,

N7

Options :
P O
Part-P@%i:‘ir{t-B Part-C | Part-D
t\ Macro- Coll
(1) AT \Fibroblast O‘ agen
phage fibresrp
cro- | Collagen N
( , Fibroblast| Mast cell
phage | fibres
Mast |Collagen | . Macro-
3) cell fibres Fibroblast phage
Macro-
@| o |Fibroblast Collagen ty rast cell
phage fibres |-—

73.

74.

G

D

ﬁqﬁxf@aﬁamwﬂomﬁ@
PR ST ST T & 2 @

(1) 5 - CCAATG-3'
3’ - GAATCC - 5 @
2

5 - CATTAG - 3’ o
3’ - GATAAC - %

(3) 5'-GATACC-3' @
3' - CCTAAG -
4y 5 - GAATT

3' - CTTA
STUAT BT FEitifess #
a7

frm &1

(1) @m

(2)

ffan
Sl _
foit o1 @ U s faa | w fafe

qETC T TS S fa@r T 1 TEE A,

B, C el D “ifer sfr - €, e ot A

(1) e FEEUeTR] | AGPRE | B W
(2) | Ty | RS W | AGRRE ;ﬁ;
O L
\Lyrdermemry| dgEE aﬁf;q ggm
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76.

77.

’ included in -

A i sl T
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In the five-kingdom classification,
Chlamydomonas and Chlorella have been

(1) Algae
e——
(2) Plantae
{3) Monera
(4)  Protista

Read the following four statements
(A-D):

(A) Both, photophosphory[ation and
oxidative phosphorylation involve
uphill transport of protons across the

membrane,

In dicot stems, a new cam %
originates from cells of peri at
the time of secondary gro

O

(B)

(C)  Stamens in flowers of riosa and

Petunia are polyandrgus:
Symbiotic nitro@ﬁxers occur in
free-living statealss in sojl.

&

(D)

How many of bove statements are

right ? @
@

(1) Thret\

)

{ One

4}  Two

©@

. (4

ﬁ%@awaﬁﬁm-mﬁw@q:

)

(B)

(©)

(D)

T Fodl F o o wd
\'—“_—-—————«-—l

e

(2)

()

(4)

qfewn

0

BRIBTER R a9 sfFarefey
BRI , G & hefl % TR IR G
T qAe S @ 8

Q?Wﬁﬁ#ﬁm,mq%%
Wtrﬁiueﬁrﬁﬁmaﬁﬁm%‘e :

eI e Pz ol H g
Y% T F |

Wmﬁmﬁﬁm’mwﬁm
SRR T

ik
A
=
U

e e L‘“]
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78.  The domestic sewage in large cities : O 'y

(1) is processed by aerobic and then
anaerobic bacteria in the secondary
treatment in Sewage Treatment
Plants (STPs)

(2)  When treated in STPs does not really
require the aeration step as the
sewage contains adequate oxygen.

(3)  has very high amounts of suspended

* solids and dissolved salts

(4) has a high BOD as it contains both

aerobic and anaerobic bacteria
79.  Which one of the following pairs is
wrongly matched ?

(1)  Salvinia - Prothallus

(2) Viroids - RNA %f

(3) Mustard - Synergids @@

(4) Ginkgo - Archegonia g@

80. What is it that forms—the/basis of DNA

Fingerprinting ? @

(1)  The relati ference in the DNA
occurrer%n blood, skin and saliva

(2) T&&@ve amount of DNA in the

%e and grooves of the
@erprints.
“Gatellite DNA occurring as highly
repeated short DNA segments
) (4) The relative proportions of purines
and pyrimidines in DNA

a2 Tl § S weid
ITaR 4, vgd W st

(1)

79ﬁaﬁ-—rmq¢aﬁgrmﬁw

TE?

V(‘;) Tifeafrar - méera

(2) FEUEEH - RNA o
(3) T - TEE HIIER

\y" frl - b, '

80. =8 ¥ oS ¢ s DNA R 1 enur

af?

(1) T, o= den @) o faEmd DNA &1
ATfd A

(2) sifer BTl A FEF! qe G F DNA
EaRRRIGEIRIE)

(3 s DNAﬂaﬁWﬁfﬂs‘rﬁ@
Y DNA @Sl & &9 R erdl gl i

¥
(4) DNA# sz ol @ TEffre %
R U
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Which one of the following characteristics
is common both in humans and adult
frogs ?

(1) Interna! fertilisation
(2) Nucleated RBCs
(3)  Ureotelic mode of excretion

(4) Four - chambered heart

Represented below is the inheritanc

pattern of a certain type of traits K
humans. Which one of the fol]o@
conditions could be an example s
pattern ? %

O
@f@

FEMALE MALE
FATHER

Son

1) &@ll anaemia
( @emophilia

&

3) Thalassemia

(4)  Phenylketonuria

81.

@
ﬂ‘J
=

frefated o & o %7 o w oy @r—w‘\
ammﬁﬁ,ﬁ?@vy%?

HHH
&
(1) Al foee &

A3 e 1 % arfi e 3 e A
ST A U @ R % e (39) #
a‘m_@u@fmw%t sy fF
frafofies 4 4 =5 « w gw & 5 3
TIeT 1 Tk IR B Hehell 8 7

(4) WHABESEEE
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83.

The four sketches (A, B, C and D) given
below, represent four different types of
animal tissues. Which one of these is
correctly identified in the options given,
along with its correct location and

function ?

@ﬁﬁﬁmwﬁ?ﬁm,&cammﬁ,a@

T ¥ IOl e e T ) 3

Tissue @@@gn I Function
Coflage \€)> Attach skeletal
(HC) fibrg% artilage| muscles to
/R\ bones
Y
i) %ﬁ le | Heart Heart
%ue contraction
@} -Columnar Nephron Secretion and
(3% epithelium absorption
k4 ®) Glandular Intestin .
) . epithelium stine|  Secretion

TF & A9 A e fawedt § @
T U5 Ik TR ST FT T qgyy ot 'l
feAm §? @
e
\'.\\
w1
Hoend tRE =
(H(C) ]
<fgdl % T < €
%(D)_ T g
@A) AT U S
11 (8) wa
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Which one of the following structures is
an organelle within an organelle ?

(1) Peroxisome
(2) ER

(3) Mesosome’
(4) Ribosome

The first clinical gene therapy was given
for treating :

(1) Chicken pox

(?) Rheumatoid arthritis |

(3) Adenosine deaminase deficiency
(4) Diabetes meilitus

Sacred groves are specially useful i%@

(1) preventing scil erosion

(2) year-round flow of wag@\ rivers
(3) consérving rare @threatened

“species {
(4) generati environmental

awarenes@
Which o the following is a wrong
state reégarding mutations ?
(1) ncer cells commonly show

romosomal aberrations
o

UV and Gamma rays are mutagens
(3) Change in a single base pair of DNA

do‘ei not cause mqtation @)

z

(4) Deletion and insertion of base pairs

cause frame-shift mutations

\ T e —————

85. H&ﬁ%@@ﬁaﬁﬁwmw

2
&

O,é R <R arw
o ) g
Y

86.

ot v Faoen fi el 8 3w 23
g2
(1) ﬁﬂwaﬁmu
(2) A & o e R
v (3} SR Qe W ISt i HeE |
TafaRofity e 3 T

(4)
87. Swfaddl % wey ¥ ffafed 4 4 w0 @
qamﬁnaﬂ%?
1) Waﬁmmaﬁﬁmw O A
< foqerT g1 3@ S B |

‘/(65 DNA % 3%l T & 99 Wi & uiad
B & St T g

a9 el % faclvd g fawe 89 4

*)

F-foree safEdd 2
._______,_——-——-/

(2)vUVﬁmme1ﬁmﬁ3?qﬁaﬁa=\°r€ﬁ°r%|'

8

e bt

TTRE



88.

89.

90.

Biolistics (gene-gun} is suitable for :

)
2)

)
(4)

Transformation of plant cells
Constructing recombinant DNA by
joining with vectors

DNA finger printing

Disarming pathogen vectors

Which one of the following statements is
wrong ?

(1)

Identify the human developmental stages
shown below as well as the related ri%
place of its occurrence in a n

pregnant woman, and select t

option for the two together.

Options :

Vegetative cell is larger than
generative cell.

Pollen grains in some plants remain
viable for months.

Intine is made up of cellulose and
pectin.

When pollen is shed at two-celled
stage, double fertilization does not
take place.

ht

ﬁ@

Site of occurrence

Develop E@l
s& N

1) /%gm FE1r11d Part of
2 allopian tube
(2)}, (Blastocyst Uterine wall
8 - celled Starting point of
@ - morula Fallopian tube
@| vLate morula Middle part of

Fallopian tube

35

D
88. wmafafesa (A Tae) e fag @
v )

W s m e ()
L/@/ﬁamaﬁ%@iehsaﬂ ‘DNA

ELCEIGIH

(3) DNA firr fUfémy @

(4) TSR Gl FP FE
= )
@ﬁmﬁf@aﬁaﬁ:{ o T €7

(1) auf aﬁmﬁafwaé

i,
2) ﬁwmﬁ—ﬁ%’w

?Wﬂﬁ@%f\/
(3 <l Yl o A o1 o S
T T ATl sreren § wga € 4

50— i @l 8 T

{90,/ 31 Femmdt Tt Wit wftesdA stereen 1 wR=H
74 g TS WY g WY Tk g e St

o 9 1l T T S 8, A W Tk
T fore ww foseT B w8 fen man €2

(1) =R (FH) ,
Q)RR (FREGE) | i fufa 3
. 8 - wifia Heet | Fed afew & Y
(=) fag =
et Aferant & e
(4)) % F1 AR (FF) 3
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91.

92.

93.

Red precipitate is obtained when ethanol
solution of dimethylglyoxime is added to
ammoniacal Ni (IT). Which of the following
statements is not true ?

(1 Complex has  symmetrical
H - bonding.

(2) Red complex has a tetrahedral
geometry.

(3) Dimethylglyoxime functions as
bidentate ligand.

(4) Red complex has a square planar
geometry.

~OH

H,C-C=N
I

H,C-C=N

~

OH

dimethylglyoxime =

«

During change of O, to O, ion, t

electron adds on which one of the fo g
orbitals ?

(1} 7 orbital G
(2) o* orbital

(3) o orbital

(4) w* orbital

RCHO+N C:»‘) ,~RCH=N~NH,
What so@eaction is it ?

Q
(1) F% radical addition - elimination

3 »
@;ctmn 2ty
( lectrophilic

o Electrof ‘substltutlon O
elimination reaction

S

3) Nuéleophilic addition - elimination
reaction

(4)  Electrophilic addition - elimination
reaction

faem = sifaea Ni () & S
R, Ot ot srad e B S B A #
T T T &7

= f

N .
G \s-aa OH ]

9}/.‘ / é’;amr 0, ¥ 7 aftad &4 awy
p_ frefafaa snfdeet o @ fam § sdwi o

WEY

(i) w 3nfsiest l( _
(2) o* afses o
(3) o amfsed

\,@’)/11'*311'&1[7.?
@
ﬁwwﬂmmﬁwﬁﬁm:

y RCHO + NH,NH,—»RCH =N -NH,
A \
o~ “%%w 37

(1) W Hewa dem-Tasi sifufmn

L~ (2)  TARITAE e - e sffrar

(4) M Werer- e s,

(4) RS daem-fade afufea

A

i
i
|
|
£
!

W |
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94.

In which of the following arrangements
the given sequence is not strictly according
* to the property indicated against it ?

(1)) H,O <H,5 < H,Se < HjTe : ( ]

increasing pK, values S (1)  HO<HS<HpSe <._I—_{2'_r Y
1lap™ s 7

(2) NH; < PH, < AsH; < SbH; % @

increasing acidic character g« (2) NH,; < PH;y < As bH, : s@dl
ety SAaER -
ﬂ (3) CO, < 80, < SnO, < PbO, : ~ ’ -

lincreasing oxidising power. 3) . ? 0, < Pb502 . T

(4) HF < HCl < HBr < HI : increasing -~ d‘%

acidic strength .
p—
) f
&~
2

The Gibbs’ energy for the decomposition
of Al,O5 at 500°C is as follows :

95.

2 4

S ALOSSAlO,; T
3 /

3 104

A.G=+960 kJ mol=L ¥

The potential differenceé_elded for the
electrolytic reduction of-alurhinium oxide

| , ) AleS) at SOOQC 15 t@.
N7 7f(3

7 .
> @) 30V o —nhC

e

. ))
/{",_/\')

37 D

94.\ Frafafas saweli § N RO wA & =%
forel o1 yrr fafaa Tord ¥ orgEr &
3?7

5o
Hi@lCl<HBr<HI:mW

% %&f - VE"[ - LN
(—@@ Gz

500°C WX AL,O, % fawea & fed firsw st
frafafes &t #

q (o ) (b4

2 =y o
Ly —3~LA1203—'>1§ Al+0,; 6 Sk Y
. Y ]

AG=+960 k] mol~1

NS X 1D

500°C W Tgfifram AeEs (ALO,) % fawq
=g & ford) fave s s A Fu g &
X T
1 30V %}E’E&L U5
x9S &
@ 25V “‘”“M wa/:‘%
- _—-‘l,"r
(3) 50V %“f“ Sof
. A% 6
4) 45V \mm‘}” >
. g D3y
Jio f?q:-/"&:ﬁ
<4 R

4
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96.

97.

98.

3

Given that the equilibrium constant for the
reaction

2501 + Oy(g) =2 S04y

has a value of 278 at a particular
temperature. What is the value of the
equilibrium constant for the following
reaction at the same temperature ?

_ 1 N2
SOy =502+ Y5 Oz¢q) ke= L——)

(1) 3.6x10°3 ng?"(
(2 60x10-2 _1
() 13x10-5 1 3, ot

\e!)
(. \&,‘?: .

(4) 18x1073

Which of the following compounds can bK
used as antifreeze in automobi
radiators ?

(1) Glycol )
(2) Nitrophenol \t.‘ 1

x= !
(3) Ethyl alcohol yavo

—{<
(4) Methyl alcohol @ 7%
' )
2
Molar con tivities (Aom) at in‘?‘?@

8

@Qa? favw arv ), aifufewan @
_ 2502(g)+o2 2803(5) @
4 T HHA 278

afufgn — gé@qwm

“C’O?'(g)‘:‘SOZ(g)+ g)
o fae wm e m'-r 1 2 ?
\

(2) 6.
- o (3 a3%1075 Jole i
T
;F_%H &@1.&103 e

) %0

Aom'tﬂ"ﬁ:

(1) 180.5 S cm? mol 1

(2) 2908 S cm? mol~?!

| _(3)390.5 S cm? mol ™1

3

dilution of » HCl and CH;COONa are

126.4, 4 and 91.0 S cm? mol !

resp ely. A for CH3COOH will be :
805 S cm? mol 1 ”’qgf ’

@}j 290.8 S cm? mol -1 /

(3) 390.5'S em? mol ! \_,,, £

(4) 42555 cm? mol~1 ‘/‘55

(4) 4255S cm? mol~!

ST (T wif) Y § e

& w9 A fr= Aifel 4 4 %6 737 @ A
®? '
L Jo
L/{*)/W REAEN
. 134
A (2) TEgIEHEE 3('6
s (3) ufaw dEmiElE e*’h’Q’
@) afue teer /"%T%
—.
8

98. 3= @I X, NaCl, HCl @ CH,COONa

F1 HIe AIAHA ( Ay, ) FAW: 1264, 425.9 |
2 mol-1 ¥ |
41 91.0 § cm? mol ~ 1 ¥, CH;COOH #! |




YNa

5.9

100.

101.

3

Vapour pressure of chloroform (CHCI3)
and dichloromethane (CH,C%,) at 25°C are
200 mmHg and 41.5 mmHg respectively. -
Vapour pressure of the solution obtained
by mixing 25.5 g of CHCly and 40 g of
CH,(l, at the same temperature will be :

(Molecular mass of CHCl;=119.5 u and
molecular mass of CH,Cl, =85 u)

(1) 6150 mmHg Py~

(2) 347.9 mmHg D‘?S/'SX‘
(3) 2855 mmHg WA s

(4} 173.9 mmHg

A certain gas takes three times as long to
effuse out as helium. Its molecular mass

will be :
(1) 36u v %f‘:
(2) 64u =
. o<
(3) 9u
(4) 27 u /” - (%@

Which one of the following s&ggfgﬁms the
biodegradable polymer ? .

(1) H,N-CH,-COOtf.and
HoN = (CHy)s H
(2) HO- ~OH and
HOOC COOH
@) CH=CH, and
< CH-CH=CH,

(4)\\ €H,=CH—-CN and

.

Qrjem -t ——/L""“@

? Lf b} ')-"':ﬁcp D

@ 25°C WY aamtﬁrq“ TRIPTH (CHCly) 79 Srereiitit e
(CH,CL,) ¥ a1 <@ w200 00 mmHg
915 mmHg %1 255 g CHC,

40 g CH,ClL, %ﬁaﬁmm

<@ 3t A W g,

&
(CHCI, %1 319 wR=119.5 J&Hﬂzm
3] YR =85 u B)

(1) 6150 mmHg %@'

(2) 347.9 mm

/(3)

(4)

100. T% 7 T g § fremfia o i
%_ﬁ%,mmw@n:

O@.l 36 u
o (2) 6 ﬁf;
(3) 9u ﬁ.i_}

(4) 27u

101. ﬁm@aﬁﬂﬁqm@zﬁaﬁmﬂma@w

i A
(1) ,
. H,N~(CH,)s ~ COOH
10 -~ CH, - OH 3t

(2) HO-CH,
é{ro - (Op-coon
(3) @ CH=CH, 3k

CH=CH-CH=CH,

H,N - CH, - COOH 3R

(4) CH,=CH-CN 3R

CH,=CH-CH=CH,

CH,=CH-CH=CH,
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102. The catalytic activity of transition metals
and their compounds is ascribed mainly
to: '

(1) their unfilled d - orbitals

(2) their ability to adopt variable
oxidation states

(3)  their chemical reactivity

(4) their magnetic behaviour

103. Given the reaction between 2 gases
represented by A, and B, to give the
compound ABg)-

Aggy T Bagy =2 ABy). @

At equilibrium, the concentration @

of Ay=30x10"3 M ©@
of B,=42x103 M 5@

of AB=28x1073 M<§

If the reaction t ace in a sealed vessel
at 527°C, then alue of K. will be :

O, 8.

102. T deeli SR ITF DT 1w

103. A B, BRI fyeaw &1 T @ AW & €
@ et 89 7T AB, T A ¥

@ Agqg)+ Bagy =2 AB(g).

WIE W A, B,d9T AB &1 WA W THN 8
A, & WrEHI=30x10"3 M
B, WRd=42x10"3 M

AB &I Grgai=28%x10"3M

1) 01@ R — 2 7]
‘2@§2 A dem g

) — a X .

) 45 547:_:@ '
@ 20 —t o

Afe 527°C W AT U s oA F it @
KCE‘[TTF{@T[T:
1 1.9
3 (2 0.62
;{: (3) 4.5 S %
3 =
(4) 2.0
A LR

T S FROE : “ﬁ@

fros

L

ST




104. Standard reduction potentials of the half
reactions are given below :

Fz(g) +2e 7 2F -

. 0 —
(ag i E°=+285V
Brz(l) + Ze_ﬂZBr_(aq) ; EO; +1.06 V
i Lgy+2e™ 270 E°=+053V
The strongest oxidising and reducmg-
agents respechve y ar;@ﬁﬁ
(1)  Bryand Cl“
&
(2) Cland Br-
-3.. ;I (4) Fy,and I~
.
3105. Four diatomic species are listed @
Identify the correct order in w he
bond order is increasing in th%
w | @ o <nos @
(@) ¢} < He;<loy<noO

Y
+

@7%;

<
- 2— +
<0, < G < He2

He

(3)

< NQO < Cz'"

41

D

104. a4 ﬁm%wmﬁwaﬁﬁq
e «w@
Fz(g)+2e“—>2F_

Clz(g)+2e —2C1~ (aq) E°=+ 6V

-

Brz(l) +2e” —")ZIB_-I' -

(aq) *

(aq) ’

g +2e 7220 o s Cj S+053V —
YSEAH TGS qe . w: §
N%

(1) Brz®
(2) c@ Br-
(@) 1, T I,
@aam—
105. =R fywamtes wris N forg @ ¥ osw
HE F9 F IEHH Sifau ey A 59 ey

ﬁi‘z%aaﬁgqmﬁ'%

Py o

() o <NO < C37< He]

(2) C) < Hej<0; <NO
'
' + - 2- Iy
: C9/1-1e2<02 <N2<C2' e . ;
Iy .

(4) NO<O; < C3<Hel
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106. Low spin complex of d® —cation in an

octahedral field will have the following

energy :
- 12
(1) TA +3P
2 R 40P
AV
-2
(3) *g‘A0+P
. - 12
{4) TA +P

(A, = Crystal Field Splitting Energy in an
octahedral field,

P= Electron pairing energy)

107. Which of the following compounds @
give a yellow precipitate with jodi
alkali ?

-—
(1} Methy! acetate
(2) Acetamide

Orys
(3) 2 - Hydroxypropah
(4) Acetophenon%@

— e T SEEEd Eies d

(1) 151-% A +3P é@o
@ :ﬁ@Q
3) @%

(4) \‘ A,+P
( wee ¥ fred & faued
o A,

O pe ot i )
@

%'wmmwwmmm@wr
e R {7 1 S ?

ey Ao tefize
(2) UtenTES
(3) 2 - TEGEEIGNA
(4) TERSEN

108.E$p-s?ra§hmaﬁmﬁnﬁiuﬂnw

108. The orbit @lar momentum of a
p-electro en as: mﬁmm%:
e h
M TPy A M 3=
% n j 2,
N \E h [+ = ) \F h
W e a2 @ A3+
o U R )
h
(3) 6.5; (3) JE'E
h h

® T

N
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109,

110.

111.

112.
~ able to disti

43 D

Which one of the followmg does not :109) Frefafes ¥ S 319 T fofeg Tﬁﬁ @

correctly represent the <& orrect order of the
property 1nd1cated agamst 1t ?

(1) Tid* < V3+t< \,C,P 4 < Mn3t
increasing magnetlc moment

(2) Ti<V<Cr<Mnt incrédsing melting
points

@) Ti<Vc< Mn < Cr mcreasmg 2nd
ionization enthalpj(‘

(4) Ti<V<Cr<Mn; mcreasmg number

of oxidation sta:res m <V M Sl

UL RVELEVLRWLY
03

(3)
(4)

Consider the following redcfili - -

O i O
IA|
Pd - BaSO,
The product ‘A’ is : é@
(1) C,H;0H

(2) CH;COCH, <§

(3) CgHsCl @

) CH5CHO

Which of@@owing reagents will be

ish between 1-butyne ang-
2—butyn%

(1) T13+ < V3+ < Cr3+ < Mn3 @'@?ﬂ
D) g v %
(2 1<V <Cr<Mn: ;

¥
W=

~" 1 (3) Ti<V<Mn<Cr/aed fgdg amam
e
4 Ti<V<C 0 SIEEA rgeealf
®T agd!
‘/ nooun wig e b
£110. g g
wadars -
1) B T
2 ff AR I L o

111. frer sifufran w foram 23T -

OCOCD H,
IA!
Pd - BaSO,
=)

fA . (/‘ P
(1) C¢H,OH “
(2) . C4H;COCH,
@) CH.Cl

113 LR 3 2.operdn F sft FO ¥ frd
ﬁqﬁ%ﬂﬁﬁﬁﬁﬁﬂﬁ‘“’




113.

114.

For real gases van der Waals equation is
written as

nz '
P+ — {(V-nb)=nRT
where ‘a’ and ‘b’ are van der Waals
constants.
Two sets of gases are :
(I)y O, CO, H,;and He
(f)y CH, Ojand H,

The gases given in set-I in increasing order
of 'b” and gases given in set-Il in decreasing
order of ‘a’, are arranged below. Select
the correct order from the following :

44

( an’
P+V2

fﬂTW%l T N T I

(1) (1) O,<He<H,<CO, (11) Hy>O,>CH, ,

(2) (D) H,<He<0,<CO, (I) CH,>O,>H, p@(l) M OZ<He<H2<CQZ (Il) H,>0,>CH,

(3) (1) H,<O,<He<CO, (i) O,>CH,> J (2) (1) Hy<He<0,<CO, () CH,>O>H,

(4) () He<H,<CO,<O, (If) CH,>H (3) (1) Hy<O,<He<CO, (I O>CH,>H,
2 212 4 % (4) (D) He<H,<CO,<0, (II) CH,>H,>0,

Activation energy (E,) and r @tants
at two

(k; and k;) of a chemical r

different temperatures nd T,) are
related by :

g

114, @ fafis @, T, 790 T, W GF aAfufwn =

wiwa w1 (F,) 9o X Famm (k) 32 ky)
79 YR GrEld § ¢

ks E, (L _ 1
(1) lnkl__f T, T
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115. Which of the following exhibits only +3
oxidation state ?

(1) Th
(2} Ac

(3) Pa

4 U

116. Equal volumes of two monoatomic gases,
A and B, at same temperature and pressure
are mixed. The ratio of specific heats
(CP/ C,) of the mixture will be :

(1y 1.50
2y 33

(3)  1.67
(4) 0.83

117. Structure of a mixed oxide is cubic close -
packed (c.c.p). The cubic unit cell of mixed
oxide is composed of oxide ions. One
fourth of the tetrahedral voids are occupied
by divalent metal A and the octahedral
voids are occupied by a monovalent metal
B. The formula of the oxide is : @
(1} A;BO, @
(2) A,B;0, g@
(3) AB,O,

@) ABO, <§@

118. Four successive members@k first series
of the transition meta listed below.
For which one of V the standard
potential (E;u N} Value has a positive
sigr. ? %

(1) Ni 5)
(2) Cu{Z=29)
3) Z+=26)

o (£=27)

5 D

@ﬁmﬁﬁﬁhmwmmwﬁh

FAE?
@ @@
(3) Pa

116.

. 0 » ’ ‘
117. w@maﬁmmﬁwﬁ(mp)
@ﬁ HAIRGE #1 ¥ e I sAiase

a?ramgaﬂ’a‘l TReA e wr &

% <o T frwidior g A 5T e ga &
@ amaﬂaa%gaﬁaawqmwmgsﬁ
D) %ﬁgq%‘l AHEE F YA T - Y
(1) A,BO, -
@) ABO B=Y
2P3%Yy )
AB,0, ;};)G‘tﬁ'g
© W0 [ e

118. WhU uigalt &1 yoy HH AV & U F AR
wﬁa@wwﬂéﬁa@aﬁ%n T 9

mm@g@ﬁw(ﬁwm]mm

O A2 (o>

(1) Ni(Z=28) i
M u@=29) gt

(3) Fe (Z=26) —

(4) Co (z=27) “
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119. In the replacement reaction
SCI+MF—>— CF + MI

The reaction will be most favourable if M
happens to be :

1 X
(2) Rb
(3) Li
(1) Na

120. An organic compound (C3HgN) (A),
when treated with nitrous acid, gave an
alcohot and N, gas was evolved. (A) on
warming with CHCl; and caustic potash
gave (C) which on reduction gave

Predict the

(2) CH,- N —CH, @
| 9
O
(3) CH,CH,CH,-NH, @
C

sy g ©
3 \CH—NH<§ \

W e
NG

isopropylmethylamine.
structure of (A).

(1) CH,CH,~NH - CH,

-

e

—)é@}{«%—»—)CF+ MI
H, srfuferan arfaehan S T4 %% M &l

2.
o x . EE @
(2)

3) @
4 Na ‘ 5e
@)(A) & V9 EEE
3 Iq=ia e o d OF tehleie
it N, e fawcit) (A) FCHCL, 3
--; “ i & | T T T (C) Wi gl
Sh arafers et T STEE e
@ (Ajﬁmﬁmﬁsﬁfm
(1) CH,CH,—NH-CH,

(2) CHy- ITI ~ CH,

CH,
(3) CH,CH,CH,-NH,
CH,
AN >cH- NH,
CH,
-00o-
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For its activity, carboxypeptidase

requires : )

(1) Niacin
(2) Copper
(3) Zinc -
(4} TIron

Plants with ovaries having only one ora ]
few ovules, are generally pollinated by :

(1) Birds
(2) Wind
(3) Bees

(4) Butterflies

The second stage o : @r sere is E)ccupied /3/
. ‘ '
by plants like : b

(1) Salix ®@
%
(2) eria

( \zolla

) Typha

FARH! TRV I O Fawy § FH GH
%tﬁam@ﬁé‘,ﬁﬁﬁ

O ﬁfaw% fﬂ‘@/
M/%@ﬁﬁﬂf&,
(3) Q/@f”ﬁ

(4) TR
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Identify the likely organisms (a), (b). (c)and
(d) in the food web shown below :

lion

owls foles snakes - hawks
)
d
zard )
(a) N
mice {b) Egi?psps)e/ sparrow
Vegetation/seeds
Options :
(a) (b) () (d)
(1){ rat dog |[tortoise| crow
(2}|squirrel cat rat |pigeon]|
(3)] deer | rabbit frog | rat
(4)] dog |squirrel | bat | deer

/ﬁﬁ@ﬁm@mmﬁ(ax(buc)

@ (4)

() Sraurt Fan 8 w9 € vewrf

faweg
Y@ o © [ @
OB | 7 | wmen | s
ﬁ%@lﬁﬁ%ﬁﬁwﬁ o | Fgm
(e[| e |
g | ficredt | fewmeg fe 11

Which one of the following option@% \/ frtfafaa ¥ 9 feg T fawen § 9 Wil

als
nous

the correct categorisation of six/a
according to the type of nj

N ITH AW THFR F Hwe I 9
Wmﬁmm,&q%wqﬁ-

wastes (A, B, C), they g\ivzé ? TR Aot v T &)
A . @ - A B c
Ag;?g]o URE?T\\E URICOTELIC sraifrar sersdt ?Iﬁ'ﬂ’lm qﬁ\im EEil

Aquatic M Pigeon, Lizards,
W @n&ns

Ainphibia

Cockroach \‘M

v : Fo, fowmiom,
et et | g, e | T

— 7

2 Aquatic | Spckroach, Frog, Pigeon, ¥
@ Amphijb < Humans Lizards (2)| ~refta tomiferm | wde, UG (“"’ 2 —
Pi Aquatic Cockroach, *
C '
(3) @ Amphibia, - STeitg tenife, .
Hu s Lizards Frog (3) ?LW' S ET M FrRE, BeF
Aquatic
rog, . Cockroach, |t demifran,
y[é:zards AI_T P }ubl:' Pigeon (4) i, foumferai FE, FA
uman

Y HAS

7

L ek sl s e




Which one of the following biomolecules
is correctly characterised ?

(1)

Adenylic acid - adenosine with a
glucose phosphate molecule

Alanine amino acid Contains
an amino group and an acidic group
anywhere in the molecule

Lecithin a phosphorylated
glyceride found in cell membrane

Palmitic acid - an unsaturated
fatty acid with 18 carbon atoms

(4)

The supportive skeletal structures in the
human external ears and in the nose tipy
are examples of :

(1) bone

(2} cartilage

(3) ligament

(4) areolar tissue %

O

Which one of the followin

g el
is correctly described ? @

T parts !

(1) Ribosomes- th loroplasts are
targer (80s) ile those in the
cytoplasm a% ller (70s)

(2) Lysoso ptimally active at a pH
of abix 8

(3) T}@@ids flattened membranous
a forming the grana of

loroplasts

Centrioles - sites for active RNA
synthesis

C

frafafas @ | few & dasop =1 @@
faferea &t wit 82 @

/

(1) ushfas sra - UEAER
2
G oifafE -

4)

L

mﬁamw%mﬁa‘r{aﬁ
Wmﬁ:&%m%7
&wﬂf I
3y [
(4) dwEEE TS

/ﬁwﬁmﬁﬁﬁqﬁWm
[t ot o e 22

TEEIEY - FTARR | 9 O 98

1)
(80s) T TAT WFIESR H 2 91 B
(70s) % B F1NL

(2) TIEERY , T 8.5 pH W HEtEa:
w3

Mmﬁmﬁq&-m&@ﬁﬁmﬂﬁ@hm

ﬁwa@m%ﬁmmﬁu

(4) wfedlem (A= #7) - 9fFy RNA

H’?éwé?wb(



10.

11.

(4) Gregor Mendel, %@@rked on

As compared to a dicot root, a monocot
root has :

(1}  Inconspicuous annual rings
(2) Relatively thicker periderm
(3) More abundant secondary xylem

(4) Many xylem bundles

~N

R
The idea of mutations was brought forth
by :

(1) Hardy Weinberg, who worked on
allele frequencies in a population

(2) Charles Darwin, who observed a
voyage
(3) Hugo do Vries, who wo on

evening primrose

Pisum sativum

Which one of the following characteristics
is common ‘\ in humans and adult
frogs ? @

1, @ated RBCs

4@ reotelic mode of excretion

%

3% Four - chambered heart

wide variety of organisms during sn@J

‘J@mm?

<
E@-ﬁw,ﬁ%‘ﬁm%%ﬁa@?ﬁﬂ
@ FrEa W F fwar o

(2) <ed sk, A9 W A &
<R sl @ 9 fafava 3 o)
\@/glgﬁga'iﬁ,fmﬁmaﬁ?fﬁqﬂﬁm

FTH fofam a1

(4) WRUEE, foa wsww demar R Em
femean X

11/ FAfafga § @ 98 & @ U oy 2 3 ged)
A1 TYER Ugeh!, S H THH T2 1 & 7

(1) sl A= @@ HiFEY

Wqﬁmwﬁﬁfumm
(3) wR-wam wAd

(4) Internal fertilisation

(4) oFafew fd=m X

I e

L5 X



12. In gobar gas, the maximum amount is that
of :

(1} Propane
(2) Carbon dioxide
(3) Butane

(4} .Methane

13. Select the correct statement about
biodiversity :

ery hi

7 - C

(1) Western Ghats have a @
species richness and

endemism. —

(2) Conservation of biodiversity is just a
fad pursued by the developed

countries.

(3) The desert areas of Rajasthan and

Guijarat have a very high level 0@

desert animal species as we

N

(4) Large scale planting of Bt@ton has
no adverse effect on bigdiversity.

14. Cuscufa 1s an exar%Q:

(1) Predati@
Y
(2) En@agﬁsm

3) ckoparasitism

numerous rare animals.

Brood parasitism

(&

\Lz/fﬁatﬁaﬁmaféww%ﬂaﬁ@?ﬁ%?

(1) 9uA

TEIA Yl (O ¥ AEE &5

[ g W g8l 3 e g ot 1
Eickd

(4) Bt HIH F I AGH T R I TH
4, Stafafayd © S FyvE T8 T=qT)
>

y/ma(mw)ﬁm@mmm%:

)] ‘H‘H&WT%

et ol Tleis @ R § e
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15.

16.

17.

Read the following four statements
(A-D):

(A) Both, photophosphorylation and
oxidative phosphorylation involve
uphill transport of protons across the
membrane.

{B) In dicot stems, a new cambium
originates from cells of pericycle at
the time of secondary growth.

(©)

Stamens in flowers of Gloriosa and
Petunia are polyandrous.

(D)} Symbiotic nitrogen-fixers occur in
free-living state also in soil.

How many of the above statements are
right ?

(1) Four
{2) One
(3) Two
(4) Three @

V',

Tobacco plants resistant to %atode
have been developed by th duction
of DNA that produced (i ost cells).

{1) an antifeedant @

)
(2) a toxic protei

(3) both senge @ﬁnti-sense RNA
(4) a parti ormone

Sacred@s are specially useful in :

Y

(1) % r-round flow of water in rivers
( onserving rare and threatened

species

) generating environmental

awareness

{(4) preventing soil erosion

FrfafEs w) %o (A - D) #t ‘@

(A) WIEAIBTTRITAE am feq
HIERINAYA, <1 4§ wen R AR
wwﬁw@%ﬁ/

(B) & sierwsft o o Rk ey
T iy @ﬁm?ﬂ%l\/

(©) vc—»ﬁﬁaﬁm@ %gﬂtﬁﬁlﬁm
EREd

(D) A AT tehes 41 7

o of 9 91d |
ol H fohas shed w7
TaR
Gy
ﬁ@ @ -
J @) @
)A@%W~m%ﬁﬁhﬁ%aﬁﬁDNA

Y FA T fEd (it st
HIeR) fohgreRt s e g ?

(1) T TRER= (Yfqu)

(2) foemem Uiem
\ﬁ% e yfa-a1ed 1 THR FTRNA -

(4) T fafire gmhA

u%ﬁawﬁﬂmmmﬁﬁm@ﬁ

#2

1) A & - T TR
AN YT HHYS YAl T & |

(3) atETvig SmrEEd Yo w0

(4) &1 A F JFA




18.

19.

(4) Three @

Read the following five statemenis (A - E)
and answer as asked next to them.

(A) In Equisetum the female gametophyte
is retained on the parent sporophyte.

(B) In Ginkgo male gametophyte is not
independent.

(C) The sporophyte in Riccia is more
developed than that in Pelytrichum.

(D) Sexual reproduction in Volvox is .
isogamous.

(E} The spores of slime molds lack cell
walls,

How many of the above statements
are correct ?

(1) Four
(2) One

(3) Two

@)
Which one of the following rg@&s a

palindromic sequernce in DN%
,_.——-d"

(1) 5 - CATTAG - 3' N
- GATAAC @

(2) 5 - GATAC
- CCTRAG-

@) 5 - % C-3
-@AAG-S’

(4 . CCAATG - 3’

3 - GAATCC - %

C

vﬁ%ﬁﬁmﬁaaﬁ(A-E)ﬁwﬁg@m
SR 3 A1 BT T B, IR S @

(A) wFElgieq W, A1 grefg

mﬁﬁmwﬁmwm

facimreet T erm vt T } 2
(1) 5 - CATTAG - 3'
X

3 - GATAAC - &

(2) 5 - GATACC - 3’

A
3" - CCTAAG - 5'

\_/B«)/S’-GAATTC-B'

3' - CTTAAG - 5’
(4) 5'- CCAATG - 37<
3 - GAATCC -5
5 e



C

20. The rate of formation of new organic
matter by rabbit in a grassland, is called :
{1) Net primary productivity
(2) Gross primary productivity
(3) Net productivity gﬁ
(4) Secondary productivity
21. " In genetic engineering, the antibiotics are
used : .
(1) as sequences from where replication
starts
(2)  to keep the cultures free of infection
(3) as selectable markers
{(4) to select healthy vectors @
22. How many plants in the list given va
have marginal placentation ?
Mustard, Gram, Tulip, Asp , Arhar,
Sun hemp, Chilli, Col e, Onion,
Moong, Pea, Tobacco,
(1) Six @ @3\
£
(2) Three N
(3) Four @
1) Fi%
23. one of the following generally acts
antagonist to gibberellins ?
@)7 ABA
o
(2) IAA
(3) Zeatin
(4) Ethylene

10

20/ {99 e ¥ e g

T I U T T FEd © 2
(1) Y& mafis
2) wFS wHis !
3) s
faeiae
21, AEE # Afeaifeas &1 394
forg ST 82
1 ST ¥ w9 § Wl @ Wt
YRY BT 2 |
@z Haul =1 geau-teg w9 W@
@@ R A TRl & w9 H |
(4) T Faws % g Hy

}éﬁaaﬁwaaﬁaﬁwﬁm
aﬁwrrsnrm@w*@

(3) =K

(4)

frafafag § | 98 S99 T € <t fesifa
1 T faet F w9 ° & F@§?

(1) ABA

(2) I1AA

strfe

(3) 3
,V(A‘)/Q%ﬂFﬂ'vr
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25.

11 C

Which one of the following statements is
wrong ?

(1) Pollen grains in some plants remain
viable for months.

(2) Intine is made up of cellulose and
pectin.

(3) When pollen is shed at two-celled
stage, double fertilization does not
take place.

(4) Vegetative cell is larger than |

generative cell.

Constder the following four statements
(a-d) and select the option which includes
all the correct ones only.

(a) Single cell Spirulina can produce
large quantities of food rich in

protein, minerals, vitamins etc. Q
(b}  Body weight-wise the microor
Methiylophilus mefhylotmph be
able to produce sever more
proteins than the cowé@day

() Common button%ooms are a

very rich source gf\vitamin C

(d) A rice var't@ been developed
which is ich in calcium.

Options :
(1) s@m (), {c) and (d)
@) @tements (@), (b)

¢ Statements (c), (d)

4) Statements (a), (c) and (d)

}( Frefafea 4 7 T 0 T T ® 2

1) T© Ul F T w0 FE-F3
Sherem o1 T 2

(2) maﬁaﬁ%awﬂ@@ﬂ@m

4

%ﬂﬂﬁ‘

Qreu - freEd

?ﬂmﬁyﬁmﬁm@ﬁm

fararfel anfe & sqr oo =1 =< W
J T IR Y TRl £t

(b) < YR H gie 8 qawsia fFamEelirerg

nﬁzﬁqwm%ﬁrﬂmﬁﬁmmﬁ%l

(c) HmWIa Fed AYER (FET) faeife C
1 Teh Igd 3751 & §

(d) U= U e e fawfae ® wh R
oo FHfegay oga g 21

ICETS I
(1) F93 (b), (c) 3 (d)

\})/a'??ﬂ(a ), () &

U7 (c), (d)

(4) T (a), (o) I () €

ﬁ%@?ﬁmuﬁﬁwwﬁﬁtﬁmb/
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26.

27.

28.

29,

Vernalisation stimulates flowering in : /Z( sl g o fead 7
(1) Carrot b (‘ﬁ:‘
(2) Ginger @
(3) Zamikand 2), = o
(4) Turmeric ELIER
@ w@ ()

menstrual cycle is also called :

(1) luteal phase and lasts for about 13
days

(2) follicular phase and lasts for about
13 days

(3) luteal phase and lasts for about 6
days

(4) follicular phase lasting for about 6
days

A

for treating :

(1) Rheumatoid arthritis

(2) Adenosine deaminase deficiency
(3) Diabetes mellitus @

(4) Chicken pox
Which one of the follo@sets of items 1
T

‘©
The first clinical gene therapy was giv@‘<

The secreto h in the h ;
secretory phase in tne umaﬁ 7/ j—

& T T Wil ¥, w@ 9% fhd
el o=

(1) e, T 13 &7 a6

(2) IR, T 13 T 6

Trafds wawe, wem 6 {7 96
e RN, ol 6 feT a
Ao

e vgelt AR foruth ITAR
& forg < 7t ot ?
(1) & Tifea

A s sesa 1)
(3) WHAE
(4) S AW

29 Fefertad =m famedl (1 - 4) F ¥ fF8 T
formeg H fed 7 Wl W, UF AR AW W

the options 1 - 4 an ctly categorised .
?
with one exceptiﬂ?@l ? wl Soft # v en ¥
ITEMS g}ﬁ}TEGORY EXCEPTION hikt st | AR
Plasmogiany; w ~ QREAA
Protozoan Aletstint L
) ¢ parasites Cuscuta 3\__% @q qGETAT FEL
Tr@osoma Edaia
"\ Typhoid -
©¢% | Bacterial , _ - TANES, ~—
Pneumonia, diseases Diphtheria ._L'
@ Diphtheria ) Ly Ffn, Siramy i | fewdtian
UAA, UAG fewetien
0 d s S G
)] UGA top codons UA UAA. UAG, %
O oas | W] UAG
Kangaroo, |, ystratian -
4| Koala, marsupials Wombat @) ﬂ:jl'ﬁ,‘ <
Wombat | | Pramen, swae | i ol




30.

31.

32,

1

For its action, iitrogenase requires :
(1) Mn2*

) Super oxygen radicals

(3) High input of energy

) Light ~

Which one of the following pairs of
chemical substances, is correctly
categorised ?

(1) Troponin and myosin - Complex
proteins in striated muscles

(2) Secretin and rhodopsin -
Polypeptide hormones

(3) Calcitonin and thymosin - Thyroid
hormones

(4) Pepsin and profactin - Two digestive
enzymes secreted in stomach

shown below as well as the related rigl

place of its occurrence in a nozx
pregnant woman, and select the ',; t
option for the two together. o

()

Options : @
Devel \ﬂtj/{
cve 0;@ Site of occurrence

st
(1 Blg@fg&/st Uterine wall
Svelled Starting point of

2
® morula Fallopian tube
%

4 Middle part of
Q ¢ Late morula i
Fallopian tube

End part of

[dentify the human developmental sti@

(4) Blastula

3 C

A glal &2
(1) Mn2*

);e/qrsg?ﬁr%ﬁ col %ur%ﬁma‘@ﬁm@ !

(4) TEFW
31, frfafes d 4

of Y W&

(1) gy
Elkl

(2)

(3) %0 A den amgwifas - gEtiss
aragedt) % Wi

Afm qen Welfee - s ® enfad
@

@< B TR @ e T

Qyﬁﬁ%ﬁ@ﬁmﬁwﬂawﬁadﬁmaﬁw
F T UG W § WY U G Tt et
o 9 T S 9l Wit €, 3 Al 6 U
o1y ford uw fases § @l fem man €2

TTd WA
e fufa B
- thelwdt iferrt & SRY ’ |
@ TR K ’

o [ rm——— L ik b
oy H 7@ ‘

Frefe Aferr & Sifem)

(8)| IR (FRH)

. Fallopian tube

ar |
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33.

34.

14

Identify the meiotic stage in which the
homologous chromosomes separate while
the sister chromatids remain associated at
their centromeres :

(1) AnaPhase [

(2} Anaphase II
(3) Metaphase I
(4} Metaphase II

@

What is it that forms the basis

Fingerprinting ? @

(1) The relative amo% f DNA in the

NA

ridges and rooves of the

fmgerprmts

(2)

(3 e relative proportions of purines
o and pyrimidines in DNA

(4) The relative difference in the DNA
occurrence in blqod, skin and saliva

% 17 G g araeen @t §

fagell (Feftad) A Rwryy

@ JAW%%@DNAWW&TW

Frr R ?

(1) fa o & wesl qur @ikl % DNA

R o
&y~ FFEET DNA St aif TRERR A
o DNA ©vel & &9 H 20 U St
B
(3) DNA # i ol 7 TERRTE &
y SMfer ST

~. (4 T, =1 99 9R ¥ f9EmE DNA @5
- A S

FIEH () TF G 9 g g
W%M(aﬁ-i&w

o T T TR Y S0 L e, Ly et e 1 < e 14 e 1o 115 £ 45 ke e e
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The four sketches (A, B, C and D) given | 35 T &3 e 9w f939 (A, B, C 99 D) #, 9R

bel.ow, re:present fou.r different types c?f R 3 IR S e T ¥ A
animal tissues. Which one of these is

correctly identified in the options given, o & A e T e i AR
along with its correct location and W@E‘Hﬁiﬁﬁﬁﬂﬂw ERi
function ? fey T E? ©

)

(B)

Tissue L@c{é Function
Smooth U
(1)j(D}| muscle @)gé:é:rt l‘t[ear:. ,
tissw_f(\ contraction (L} (D) w4 Twa g
Clumnat i ki
@A) ﬁi\‘% Nephron Secretlon-and P
sfnth M absorption et ek | wew T v
@;d 1 Tl
3 @ th 11: 2| Intestine|  Secretion it
N épithelium @\ ®) s -
' Attach skeletal STl
© “E |can les g —
Ir
fibres artilage| muscles to wl© i ‘
bones @%Wﬁ\gﬁ%l
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6. -Read the followin

(A

{A) In transcription, adenosine

(B)
(©)

(D)

2 N

-D):

with uracil.

Regulation of Iac operon by repressor

is referred to as positive regulation.

The  human genome  has
approximately 50,000 genes.

Haemophilia is a sex-linked recessive
disease.

How many of the above statements are

right ? -

{1} Four
{2) One
(3) Two
(4) Three

37.

Which one of the following organis
scientifically correctly named, co

printed according to the Int
Rules of Nomenclature anc%

ctly
onal
rrectly

described ?

(1)
(2)

38.

Felis tigris - The Ig?ﬁ tiger, well
protected in Gir £g .

& Lntamoeba coli, a
urring bacterium in

The common
d, a reptile

% wm falciparum - A protozoan
Ogen causing the most serious
pe of malaria

ch one of the following pairs is

wrongly matched ?

1)
)
{3)
(4)

Viroids - RNA

Mustard - Synergids
Ginkgo - Archegonia
Salvinia - Prothallus

g four statementsL

pairs

16

(3)

@%um@ﬁ@mrwﬁamﬁamﬁm ‘

W,Gﬁm%m@wﬁaﬁ%w

Hﬁmw%ammwmaﬁm

TR, AR

(1) Felis tigris - vdta g, it sineit
welt Wi g

{2)  E.coli - R CUNG I Entamoeba coli, A4
Hafeqt # : U WA aren uw

Bl
Musca domestica - ST e figqaret,
T Wy A

\j})/Plasmodiurn Jalciparum - T dretem

Wren foed) waffins TR @R
et g

L

. i

A e s At e o € g it
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39. Which one of the following is a wrong | 39, 3sfigd=] & o< o fm=fafew 79

SIEsiE] statement regarding mutations ? g T FoT T £
(1) UV and Gamma rays are mutagens (1) UV dg farai T
T 9 :
. (2) Change in a single base pair of DNA DNA & 3Tshel TF & ¥ afiEdA
does not cause mutation
W _
& (3) Deletion and insertion of base pairs
cause frame-shift mutations
(4) Cancer cells commonly show
chromosomal aberrations
40. Which one of the following human organs—
is often called the “graveyard” of RBCs ?
(1) Spleen
Fren ,
(2) Liver
- | (3) Gall bladder

| (4) Kidney @
&
41. Represented below is the@ance

™ . .G
; pattern of a certain type raits in
humans. Which one o following -
conditions could be ap/(example of this H_\gﬁlﬂ?ﬂfﬂl Uy EFHE_f
= i ~ pattern ? ﬁq@@_\@ a'ﬂq_fﬁ Us <yl B Wi gEl
| @ qiT=T 1 TF SEE & g 77
o ST
FEMALE / \
&l MOTHER e M
LG firm
. |
(1) ¢ Haemophilia % AR
}  Thalassemia 2) deifen
) (3) Phenylketonuria (3) qﬁqﬁm’_ﬁzﬁgm
: 41
(4) Sickle cell anaemia (4) M




: &

Which one of the following organisms is / ffafas F 9 &y TF Hig
correctly matched with its three %rﬁasrmaﬁ%maqﬁﬁmm ¥

characteristics ?
(1) Onion : Bulb, Imbricate aestivation, 1)
Axile placentation

(2)  Maize: G, pathway, Closed vascular 5@ C G:’) T, EEW?‘FI #F’q

bundles, Scutellum

(3) Pea : C; pathway, Endospermic
seed, Vexillary aestivation

(4) Tomato : Twisted aestivation, Axile
placentation, Berry

Read the following four statement

< 43 Frafafes 9r wuE (A - D) #1 ufed -

A-D}: 2
(A-D) (A) TEI Ty o ST (Tawa) ™
(A) Colostrum is recommended@\e fere faemmar s =feu srife se G
new born because it i@ in S T T ?{\ .
antigens. @ ’
B i%ﬁ‘ﬁ!!ﬁl’ll 5y
(B) Chikengunya is ca&q@by a Gram ®) E—. W@‘@%
negative bacteriu@ !
(C) Tissue cultur s proved useful in (C) 9% vsfa%h“______ L IEEWQ W HT
obtaining @9—&&2 plants. 7 LRSICHRED ﬁﬁg AT @X
(1 ufactured b distillafEﬁTD (D) 9T ] Ieared Tefvag BHTLI ™ %
c'») ted grape juice. mﬁf ><

Hogv@r of the above statements are T B R H TR 2
wrong,

(1Y Four _ 1) =m
o

{2) One | (2) =

(3) Two 3

(4) Three M Gik
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44,

45.

A fall in glomerular filtration rate (GFR)
activates :

(1). adrenal medulla to release
adrenaline
(2) posterior pituitary to release

vasopressin
(3) juxtaglomerular cells to release renin

(4) adrenal cortex to release aldosterone

The domestic sewage in large cities :@Q

(1)  When treated in 51Ps dc)géyﬁt really

require the aeratio@ep as the
sewage contains adequate oxygen.

(2)  hasvery himunts of suspended
solids aolved salts

%
3) h @igh BOD as it contains both
@9 ic and anaerobic bacteria

&

) is processed by aerobic and then
anaerobic bacteria in the secondary
treatment in Sewage Treatment
Plants (STPs)

44. A frEET T (GFR) A Wﬂ§
foraeR Hihgaheo g 82

0 w@;aﬂgﬂia;rgwé@wm

(3) @t@%@

%@?ﬂaﬁm(ﬁwa@)mm
?mi

45 = el § e e

(1) =1 STPs ® Iv=If@ w1 W ard Ao
TTE 0T i 3TATEET el Bl FHifch
T 1 vatd st et 2

arfues AT B B

(3) 9 3= BOD Bl ¢ % T8y =rEed
q STEEE S THR % S e
i3

(4) I, TeISTel SUOR w43l (STPs) H fedtas
IR H, I8 A aEEa SR gl
Ayl WS a1 AEEEa dRifr ga
PELLE TR E G



46,

|
5t 3
s "am
C ,
3 ]
> | "R | | .
Options : @
(1) C- Extension in the presenc at
stable DNA polymerase
(2} A - Annealing wit % sets of
primers
(3) B - Denaturati g&a temperature
of about 98° arating the two
DNA stran '
(4)

u@

&

The figure below shows three steps (A,B,C)

of Polymerase Chain Reaction (PCR).Y

Select the option giving correct
identification together with what it
represents ?

Regwn to be amplified

A LT T T ds DNA
| .

SIHIIHH;__SIIS

s WEESRNREEN

A - @ation at a temperature
of a 0°C

& y
B’& s (gene-gun) is suitable for :

Constructing recombinanf DNA by
joining with vectors

(2) DNA finger printing
(3) Disarming pathogen vectors
(4) Transformation of plant cells

-‘) T AT
- (PCR) % 7 = ( ¢y feam e §
frafafes ¥ @ frg ¥ & T
&1 Frevw wd 77
A, 3'_dsDNA
5

VaMEaR

. @% rl;-ll

@%Jlllllllll
o s'

ga/mqqummm@m

A-mﬁ%ﬁﬁz‘f%m&ﬁﬂﬁm

5

3

(2)

(3) B - @YW 98°C & WM W
. R A DNA 9% 79 81 7 |

(4) A-wmso'?é;ammqtﬁwa

%ﬁm(mm)mmm
22
(1) HaEH & WY WA GIETT DNA
I '
(2) DNA fom f§fém
() T Hargsl &1 Ry wom)

\/mﬁﬁmaﬁm%‘wu




T §)

DNA

Teyfd

A

DNA

48.

49.

50,

21

A test cross is carried out to :
(1) assessthe number of alleles of a gene.

(2) determine whether two species or
varieties will breed successfully.

(3) determine the genotype of a plant at
F,.

(4) predict whether two traits are
linked.

Which one of the following structures is
an organelle within an organelle ?
—————

(1) ER

(2) Mesosome

(3) Ribosome @
4) Peroxisomé

How many orgapi in the list given

below are aut
Lactobacillys; toc, Chara, Nitrosomonas,
Nitrobac treptomyces, Sacharomyces,
Trypa a, Porphyra, Wolfia

(1x

23 Three

(3) Four

(4) Five

C (1) ER |

) feet s & |
& for

() Whufasas <& et @
7L Sl LT AT TE |
% e fretfaE

mﬁ F fau f& =1 22®
Wﬁ“@nﬂ%’ﬂ

¥ ¥ #F O TH HET ATE &

(2) HEES
/ T
(4) TedEH

./m/avrg@ﬁmﬁa ey

@2 W
(3) =W
(4) w=




51.

52.

53.

22

What is the function of germ pore ?
(1) Initiation of pollen tube

(2)

Release of male gametes

(3)

Emergence of radicle

(4)

Absorption of water for seed
germination

Through their effect on plant growth |
regulators, what do the temperaturean@

light control in the plants ? @

&

@
Apical domina
Flowering@<§

O

Gre@@olution in India occurree{’

Closure of stomata

1)
(2)  Fruit elongation

(3)

4)

dyri
S
o

&

{2)

1980’s
1950’s

(3) 1960's

5Y, Wmmwmm%?©©

b/

ey gig frassl ot wnfaa <, aaae qen
werret WiET O 1 faefaa
(1) I FERET

(2) el F e

(3)  viteey gurfer
(4T
Amﬁgﬁammamgaﬁ?

1980 ¥ T9IF |
-

1950 % 9% |

4y

2

(3) 1960 & TUF H

(4) 1970's

_\Mm%mﬁ‘
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Identify the molecules (a) and (b) shown
below and select the right option giving

their source and use.

23

7 CHS
N 0
CH
s
Q
H
a
(a) o 5
H
O
OH
R
(b)
O
I
Options : %
Y
Molecule Source (Us¢/
Al rgduces
.. ropa o
(1} (b) Cannabinoid belladona @ l-ucma.
Vi tions
7 P % Sedative
. apav .
(2)| (a) Morphine 0 . and pain
i\ killer
@ Accelerates
the
(3)| (a)Cocai d)ry throxylum transport
coca
0 of
dopamine
@ Depressant
o ) ‘
. Cannabis and slows
“ §‘b) Heroin sativa down body
functions

C
54/ < fe@md 1 ® AL (a) 791 (b)
amﬁ%@ﬂqﬁ@ﬁn%ﬁwﬁﬂé'@
g

OH

O g
faereq :
y w_favm g wa
(1) (b)% aam? N
m/(wﬁt#h CLCT M a9l
A_] e | e
A &
oo | aftEes
@) @I e |
T
MF G 2F
| #fE -
4| (b e I FE! & g
XGRS
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55.

56.

57.

2
In the five-kingdom classification,
Chlamydomonas and Chlorella have been
included in :
(1) Plantae
(2} Monera

(3) Protista

(4) Algae

Which one of the following categories of
animals, is correctly described with no
single exception in it ?

(1)  All sponges are marine and hav(

collared cells. @
(2)  All mammals are viviparous d
possess diaphragm for br
(3)  All reptiles possess SQ have a
three chambered hédrt arid are cold

blooded ( pmkﬂo@

(4)  Allbony fishes'have four pairs of gills
and an op m on each side.
Where certain  symbiotic

micro a isms normally occur in human

bo

@ Vermiform appendix and rectum
o

(2) Duodenum
(3) Caecum

(4)  Oral lining and tongue surface

4

55/ s e A Wﬁ’@@m
$

Ferlten el vt Fog

O <= &0

2)

(3 wifew %Q
\/ ﬁ@lmﬁmaﬁaﬁaﬂqﬁ@%ﬂﬁ
o ues off arqane &, wEl v fren

@%i/ [t T wgt BN ¥ ud 3 wiengT
SHITTRTT Bt § |
(2 Wl e fryme R ¥ o e e
N O & fore U STEEW (AEee) der
T

(3) =Bt wdgdl 4 v 2 ¥ e et
A( &CT Bl & 9o A WAy (Sramard)
g
(4) |t HAfeet wafer § 9w wigt w9m
A ST N TH-TF ¥59¢ Bl B

GAHHW&WWWB\WW:

FEl & IR S § 2
(1) e afefyen aun wemes 3
Teuit (gaEm) |

(3) 3w (dHew) A
(4) HE T & W Y Y = TGI8 |

B i Y .
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58. Which one of the following statements is\ }g/gﬁf{&ﬂ % deof & fr=fafEa 9 4 qi}:[ 1 (3@

correct with respect to immunity ?

59.

1)

Aritibodies are protein molecules,

each of which has four light chains

(2)

function of B-lymphocytes

(3)

Rejection of a kidney graft is the

Preformed antibodies need to be

injected to treat the bite by a viper

snake

pathogen

T - lymphocytes

Given below is the diagrammatic sketch
of a certain type of connective tiss

Identify the parts labelled A, B, C and
and select the right option about them.

are

The antibodies against small pox

produced by

Fo TH 8 ?
1)

yfafie (are™) e

@ﬁrﬁm@@aﬁ@wﬁaﬁ@ﬁﬁm
@WWMWE‘WW%I 7ol A,
@ B, C ot D ATwifEd W F-a €, 3 fawa o
e fomwea g

Options : @
Part- A (?aM Part-C |Part-D
Macro. gﬁ’agen . .
(1) pha éQf res Fibroblast| Mast cell (1) | Feewempn]| FRA W qAqAE |
ast | Collagen Macro- e
Fibrobl EIER] Aqh BT
(2) @} fibres ibroblast phage L><r(2) e ™ TETY
Macro- Colk wloA | AR
}% €T Fibroblast 0_ ABET | Mast cell verE]| ATERE
phage fibres : W IR
Mast | Macro- ! Collagen -qﬂg -
4 Fibroblast o : O GEE|
W e phage Provast) fibres | < |@) R TETYHT] | AT kil
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60. Which one of the following pairs of ‘/ﬁqﬁl‘f‘@ﬁﬁﬁﬁm@\?ﬁ%ﬂ; I
amm‘al‘s are similar to each ot.her mm@m%mﬁ >
pertaining to the feature stated against
them ? 8?2
(1)  Ascaris and Ancylostoma - Metameric
segmentation
(2) Sea horse and Flying fish - Cold
blooded (boikilothermal)
(3) Pteropus and Ornithorhyncus -
Viviparity
(4)  Garden lizard and Crocodile - Three
chambered heart
. U6
61. A magnetic needle suspended paraliel to % 3 3
a magnetic field requires ./3 J of work to @ T F 60 T F fad 3] wr EﬁT
turn it through 60°. The torque needed@ ATEHA B 21 A, T Rl e 3
maintain the needle in this positio I @A % fer SIEEEED W—Sﬂaﬁ (2fF)
be : ( 1A 201
CRINGY N "Ny A
@ 51 %@/ b 7]
/ [
B) 23] g@)( y AP © 23]
4) 3]
% BTSN % WA feRtft O] ¥ 1 =3 areeq
62. The tran rom the state n=3ton=1 @n=1mﬁmﬁqﬁﬁm
in a gen like atom results in ; . _
ultr et radiation. Infrared radiation i ) R, 3¥ﬁ 1H
wﬁ% obtained in the transition from Feroll o1 et drm, af o K
@4~+2 (1) 452 % P
S
@) 4-3 ‘S) ‘);)/4—)3 i
“(3) 291 M ’F:L (3) 2174
A ‘?/
4) 3-2 ;L/ (4) 3-2 Y
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63.

64.

e

The power dissipated in the circuit shown
in the figure is 30 Watts. The value of R
is: '

R
VA
—————AAN——]
50
,_._'_h__.—
10V
1) 109
2) 300
(3) 200
@ 150

Which one of the following plots

represents the variation of gravitationia_b

field on a particle with distance r due to a
thin spherical shell of radius R ? (r is
measured from the centre of the spherical
shell.)

63. mﬁamﬁnﬁqﬁquﬁwﬁa—msoar@
?ﬁ,RWﬂ'ﬁ%:

%
O© @@é

A § M (e § & F9 W A R
¥ fadt Mo=R B F fFD w0 W

@ fmw@ram%?
= (r 1 T TIEFR F19 & H= 9 7 741 )

(4) l l N
O r
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66.

Lo

- .wﬁ.ﬁ'”ﬁ-
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The input resistance of a silicon transistor

is 100 Q. Base current is changed by

40 wA which results in a change in’
collector current by 2 mA. This transistor
is used as a common emitter amplifier
with a load resistance of 4 KQ. The voltage

in of th lifier is ;\
gain of the amp 131‘\ 653}‘(\\«4\Q< (/

(1) 4000
) 1000
3) 2000

4) 3000 . 1 -/g
@) &ﬁz/@ @

A parallel\plate capacitor has a uniform j
electric field E in the space between t
plates. If the distance between the p
is d and area of each plate is A, the e
stored in the capacitor is :

1
3] EeoEzAd
(2) e,EAd /

1 SN
(3) e, @

Wﬁfﬁmgﬁmw ' ®1009
g1 SMHR UR F 40 pA ¥ g
R H 2 mA & 21 39 zifsen
%1, IAfTs- % & w0 1§ 4 KO
S iy & fFa T & 1, yasds
aﬂw : .
(1) 40 = 20 o
o HbxierS

' 00

56 et e e it ) 2t 5
@@?ﬁmﬁimmE%iMi

2 ¥ s 9 g8 d B o o e |

m@?ﬁﬁ?#ﬁmw
o T =

B —

MsoEzAd

(2)

g, EAd

1
= 2
5 g.E

(4} E2Ad/e,
N

;Aﬁ:vewans#amqﬂa‘}%ﬁrwﬁm&n |

(3)

TR 0 et e T A ST
@, 3T < ey B :
(1) ve= 20,

A ve=\/§vo
(B} v,=27,
4) V=0,
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68.

70.

b .

29

In a coil of resistance 10 €, the induced
current developed by changing magnetic
flux through it, is shown in figure as a
function of time. The magnitude of change
in flux through the coil in Weber is :

i (amp)

4

0! 01 t(s)

—

1)
2)
3)

)

N GO BN

4

— — —

A proton carrying 1 MeV kinetic energy/is
moving in a circular path of radius R
uniform magnetic field. What shd@e
the energy of an «a - particle to ibe a
circle of same radius in the s 1d ?

(1) 05 MeV

2) 4 MeV - 5@
(3) 2 MeV @

(4) 1 MeV <§

To get an o

which of
correct :

=1 in given circuit
llowing input will be

0 =

B D
(N

® A B C

1 1 1 0

@ 0 1 0

3 1 0 0

@ 1 0 1

)6}./10'91;@1%1%%@5'3—& F

& geE v % I | Pig
F U S HAT FH EAH 4
qefda frar T &1 R, TR @ Hag

e wfEd &AM i

4

t(s)

t&\/@ 0.1

Wﬁzﬁaﬁnﬁawﬁuvlev%l g felt
T A graehd 8% R 1 % JaER 9y
Ffq #T @ 1 @, FRE o - w0 S
frat Bt =fed il 9 St aw H 36 i
& vy § Tifq R W ?

(1) 05 MeV

T 4 MeV

(3) 2 MeV
(4) 1MeV

\;Aqnqtrﬁwﬁ‘ﬁﬁaﬂﬂ\(ﬂm?ﬁﬁ%

for Fymfataa § @ w FEvhae W& 8
A:Di h
! .
C B |
A B C
M 1 1 0
@ 0 1 0
@) 1, .0 o
1 0 1

S
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71.

72,

73.

The equation of a simple harmonic wave
is given by :

y=3 sing- (50t —x},

where x and y are in metres and t is in
seconds. The ratio of maximum particle
velocity to the wave velocity is :

(1)
(2)
(3

{4)

(1)
(2)

(3}
(4)

ec
is ;
(@a of sound in air is 330 ms™~ 1)

(V)
(2)
)
(4)

The dimensions of mo'go)_]/z are: - @

A train movi g@ speed of 220 ms ™1\
towards a sta v object, emits a sound

of frequenc Ui Hz. Some of the sound
reachin \@bject gets reflected back to

the trai echo. The frequency of the

w S

3
2

3 T
2

3
21T

[LT-1]

LV2rY2 Mes
o) VLS

e ol
-t @
S

tected by the driver of the train

5000 Hz
3000 Hz
3500 Hz
4000 Hz

71. WWWW@W@

. (p,oeo)_lfz Hﬁﬁmﬁfﬁé

LT

) [Ll/le/z]

3) [Llfzr '1/2}

4) LT

A

}a/wma—@eﬁramzzoms-laﬁw@

JeTdl 83 Th <7 1000 Hz gfa & wafq
T HE 2| FH Al F T g Iy g @
TR WRasafT % w9 § T o199 1 S
sfaeaft T smghe g

(w7 Ft 9 § 9= 330 ms 1)

,\)(r/f:ooo Hz

(2) 3000 Hz
(3) 3500 Hz
(4) 4000 Hz
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The ratio of amplitude of magnetic field to
the amplitude of electric field for am'y
electromagnetic wave propagating in
vacuum is equal to :

(1) the ratio of magnetic permeability to
the electric susceptibility of vacuum

(2) unity )
(3)  the speed of light in vacuum

(4)  reciprocal of speed of light in vacuum

A car of mass m starts from rest and
accelerates so that the instantaneous
power delivered to the car has a constant 1
magnitude P,. The instantaneous velocity
of this car is proportional to :

1 2

o wm o \/ N,
3y P,
- @

(4) ¢

The moment of inertia é% uniform circular

disc is maxim bout an axis
perpendicular %ﬁ disc and passing

through :

TH. ﬁahﬁu‘aﬁamﬁ@gmﬁu@

&

fird), prreh 1 et e &3 6 S
BE

(1)

(4)

frafa ® g
o1 S e

B B
Cq g+t

: ' AT
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78.
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Three masses are placed on the x-axis :
300 g at origin, 500 g at x=40 cm and- |
400 g at x=70 cm. The distance of the
centre of mass from the origin is :

(1) 50 cm
(2) 30 cm
(3) 40 cm
(4) 45cm

A car of mass m is moving on a level
circular track of radius R. If K Tepresents
the static friction between the road and
tyres of the car, the maximum speed of the |
car in circular motion is given by :

(1)  ymRg/p

C

(3)  Jng mRg

(4) v Rg / Hs

An ideal gas goes from st;@ to state B

via three different proc
in the P - V diagram :@

as indicated

If Q@3 indicate the heat absorbed by
o
th along the three processes and

AU,, AUj; indicate the change in
ifternal energy along the three processes
respectively, then : -

() Q;=Q,;=Q; and AU >AU,>AU,
(2) Q3»Q,>Q; and AU >AU,>AU,
(3) Q>Q;»Q; and AU, =AU, =AU,

y./ﬁfuﬂamﬁ%ahﬁ@:x-

&,
@@%Wm@fwmﬁm
Y,

(4)
Wnﬂp-vmaﬂ“ﬁrﬂ,@mﬂw
A

&1 o1 fafve yerdl gro frafa A @ feafapass |
o T S )

'.
WE:

300 g %1 fos A& Y, 500 g 1,

m%ﬁﬁﬁw,Rﬁm%WW.
T T FE R | Al ek o
[ & ot ek o @ A R §

ym Rg/l-’-s
\(2) Hg Rg |

(3 Jus mRg

Ffe 31 a9 el o, savifeg T e
Qp Q, T Q, AR I=fF ool ¥ uftady
AU, AU, B AU, & 1

(1) Q=Q,=Q; T AU, >AU,>AU,
(2) _Q3>Q,>Q, 0¥ AU, >AU,>AU,
MS1>Q2>Q3 91 AU, =AU, =AU,

(4)  Q3>Qy>Q; T AU, = AU, =AU,

i 2




LT 9B

)0 g T,

0 cm GX.

F e F
I, FR &t

s g
AR dH

‘J3
AU,

81.

82.

A stonL is dropped from a height K.

the ground with a certain momentum P.
If the same stone is dropped from a height
100% more than the previoussheight, the
momentum when it hits the ground will

change by :
(1) 200%
(2) 100%
(3) 68%
4) 41%

The instantaneous values of alternating
current and voltages in a circuit are given
as

1 ,
i="/5 sin (100 wt) ampere

1
e = 75 sin (100 mt+ 74) Volt
The average power in Watts consumed
the circuit is :

©@

) = 5@
0 @
SR
L
3

%@
If the @nmm of an electron is changed
by then the de Broglie wavelength

igted with it changes by 0.5%. The
| momentumn of electron will be :

1
Y
(4)

) 200
2) 100 P
3) 200P
(4) 400 P

— p—

;?qgwﬁh%aéﬁﬁwméi

P ¥ Y- | THYA 2, e TH {2 #, 31
e ¥ 100% afusw =R & fign 9w @
-7 ¥ ZHOA 9T TGh ¥ gftads
am: O
(1) 200% %Q
(2), 100%
of o8
(4) 41%@

y./w ﬁwa'cﬁﬁﬁmumamahm@

[ 1 s (1 war frefa faa

@@9 = sin (100 wt) TR

@ a;u"l/e_f\/— sm(100m+%

1, 74 ofom ¥ s o /7
i
1
S
. !
@ /\/f P

!

(3)

o %
Wﬁm%a@wﬂiﬂ;{%

T g 3-ar e 0.5% AR
et 31 0, SO L YRR €T 8
. ‘

(1)

N%
(3)
(4)

¥

200
100 P

200 P
400 P
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83. The half life of a radioactive nucleus is lﬁ/ et Yea vfms wfus 3t q 50 f:(;:{
30 days. The time interval (t, —t;) between , 9
2 A, |F S oamF F W t,
the time t, when 3 of it has decayed and 3
1
qq ~ m%aﬁa@:mﬂtp EaRit
the time t; when 2 of it had decayed is : O 3
; @ ) AT, (ty—t,)
(1) 60 days Q,\;f 1 \4 @ 60 ﬁ?
3 o
(2) 15days 1 . y ){gC\
(3) 30 days ck (3) %\Zﬂ
(4) 50 davs
84. A rod of length 10 cm lies along the @
principal axis of a concave mirror of focal 10 con @ T B H, 10 em BiFY T F
length 10 cm in such o way that its end//{7 3 EF'T. ’ 3
closer to the pole is 20 cm away from t A E e A USRS
mirror. The length of the image is : _ TR T8 T § EEEIR LT ¥q & UG
arett {0, ST H 20 em e §1 4, wafaa 51
(2) Scem @ (1) 25cm
(3) 10 cm 5@ \Q( 5cm
@ 1
(4} 15cm _ (3) 10 cm
(4} 15 cm
85. Two radiatio@ photons energies 1 eV A 1eVaA 25 oV 91l 3
and 2.5 e¥successively illuminatesa”| N ﬁ' : . 39
photos f¥e metallic surface of work & agaﬁ@i——f—_ﬁ;_‘g §,( )
functi eV. The ratio of the maximum 2 | 39 T 1 H HE 0.5 eV
spee the emitted electrons is : Bl d ey Wﬁﬁm
el T ST BT
07, OCQ)M - @ wam
A '
)1 i 1:1 L{ - -4 )
_ =0 S’.; %(2) sy 20 g
() 1: 0 :
VL 25:—-'( T 3 1:4 1/} [
4 1: M 2 L=l
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87.

Ly, > SO
ol

25
>0 3

Two metallic spheres of radii 1 cm and |
3 cm are given charges of —1x1072 C
and 5% 1072 C, respectively. If these are
connected by a conducting wire, the final

charge on the bigger sphere is :
(1) 4x1072C

(2) 1x10-2C

Ag

W

‘1/1_./*
b\

)
)
(3) 2x1072C
4) 3x1072C \w\“/v‘pg

X

A cell having an emf ¢ and’internal
resistance r is connected across a variable™
external resistance R. As the resistance
R is increased, the plot of potential
difference V across R is given by :

2

(o (6%

e /lig.g 08¢
i G

5 @
,G’Acmﬁm?)cmﬁma?%a?ﬁ

FUWM: —1x10"2 CadqM5x10~2
fem mn ®1 A, T T ¥
am. W

fe wE @, 98 T W

/fl/(l) 4%x1072 C Q 7(\0
(2) 1x10-2C O\\»

(3) 2x *QC \A k{x]o'L ‘
\C})})’?’/ﬂ‘g@ /xzof?‘* Eﬁ»«;x[c«'

TF qe

AEF T (TTHLE.) ¢ el
Yfaty r 31 &9 v qfigd] gfau R
A o e S T Afg giely R
i 9 Y, R & fadl & &= fayarm v
o ~




88.

89.

90.

For the angle of minimum deviation of a
prism to be equal to its refracting angle,
the prism must be made of a material
whose refractive index :

(1) islessthanl
{2) is greater than 2

(3) lies between 2 and 1

(4) lies between 2 and /2

A circular platform is mounted on a
frictionless vertical axle. Its radius
R=2 m and its moment of inertia about
the axle is 200 kg m?. It is initially at rest.
A 50 kg man stands on the edge of the
platform and begins to walk along the
edge at the speed of 1ms ™! relative to the
ground. Time taken by the man to
complete one revolution is :

1) 2mws

@ 3 9
3) s 5@@

, 3w

4y —s

2 ﬁ@
A slab of sto area 0.36 m? and
thickness 0.1 @exposed on the lower
surface to s t 100°C. A block of ice
at 0°C re the upper surface of the
sIab I evhour 4.8 kg of ice is melted.
al conductivity of slab is :
latent heat
lce@gexw% kg™l -
© 205]/m/s/°C
(2) 1.02J/m/s/°C
(3) 124J/m/s/°C
(4) 129]/m/s/°C

of fusion of

36

femr 2

90.

Mmmma;wﬁwm%

3TYF® IV o e B Al
T ITEAIH B

M 18 %9 5@0
(2) 29 srfuw @

(3) ﬁeﬁ\u#a@

(4) 231‘11\/5%6

@@Faﬁwﬁﬁm‘ﬂgﬂm
Y i TR R=2 m & 3R 30

of 200 kg m2 &1 YR® ¥ Fg

H %1 50 kg FATA I TH A
& fF R W '@ g ¢ iR fem-
(TfEW) -6 F WU Ims ™~ L & am

¥ =l YWY S 7 d, 39 SRR g &

. TR QU & § o WEY g

(1) 2ms

TR & O T () F A 0.36 m?
%ﬁzmaﬁnﬁzréo.l mz! Wﬁar«ﬂm
(9%3) 100°C ! w9 & wrveh § ¢ 3 T@aht
FI0 Ta8 W O°C FI o ) T wid @t ¢
fored w w2 H 4.8 kg 7 foroe 9At 81 A
th & W &1 T FS=3.36x10°J kg ™!

B, G F W Y ST el gt

(1) 2.05]/m/s/°C
(2) 1.02]J/m/s/°C
(3) 1.24]/m/s/°C
4) 129]/m/s/°C
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91. The Gibbs' energy for the decomposition
of Al,O, at 500°C is as follows :
2 4 ‘
3 A1203—)§A1+02;
A.G= +960 k] mol 1.
The potential difference needed for the
electrolytic reduction of aluminium.oxide
(ALL,O,) at 500°C is at least :

1) 25V
2) 50V
3) 45V
4) 30V

92.  Which of the following compounds can be
used as antifreeze in automobile
radiators ?

(1)  Nitrophenol
(2) Ethyl alcohol
(3) Methyl alcohol
(4) Glycol

93. A cerlain gas takes three times as 10@
effuse out as helium. Its molecula 5
will be :
(1) 6du

2) 9u
(3) 2u @ A
‘ S

4) 36u
94. Vapour pressu »" loroform (CHCl,)
and dichlorom@e (CH,Cl,) at 25°C are

200 mmHg .5 mmHg respectively.
Vapour p of the solution obtained
by mixi 5 g of CHCl; and 40 g of

CHzé}% the same temperature will be :
M ar mass of CHCl;=119.5 u and
lar mass of CH,Cl, =85 u)

© 347.9 mmHg
A\(2) 285.5 mmHg
(3) 173.9 mmHg

91. 500°C T ALO, ¥ fawen ¥ fadl firew @
frrefefaa 2t €

2 S ALO 3A1+02, @

A G = +960 k] mol g@o
500°cqtﬁﬁﬁﬁw 50,) % fare
e & ford fave ﬁ B R -
1) 25V

(2) 50V

(3) 45V '
4) 30V
@ﬁm&a)ﬁ%‘&zﬁﬁuﬁﬁq
%&ﬁ\\ﬁﬁmzﬂﬁm‘ﬁ'ﬁaﬁqwﬁm
%?@0
AR
@ wftret el
@ o) afuaamgra

/ﬁamﬁmﬁﬁwﬁaaﬁm
wm@‘cﬁ% FEHI 3TV] TATH B
{1) 64u
{Z) Yu '6“
(3) 27u
4y 36 u

94. 25°C T FARGH (CHCl,) aen Ssifia T
(CH,CL,) & a7 3™ %W 200 mmHg del
41.5 mmHg @1 255 g CHCl; & a1
40 g CH,CL, % Tem 1 yra feera =1 3
e IE 9 W am,
(CHCl, 1 319 R=119.5 u 481 CH,Cl, FT
Y TR=85 u ?)
(1) 347.9 mmHg

(2) 2855 mmHg
(3) 1739 mmHg

(4) 615.0 mmHg

(4) 6150 mmHg -
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95.

96.

38

Red precipitate is obtained when ethanol
solution of dimethylglyoxime is added to

EERCIHER I KL i s e

ammoniacal Ni (). Which of the following e @ s Ni () At e
staterments is not true ? 8, i = SECEI B ] E2ER
?
(1) Red complex has a tetrahedral T &
geometry. { A HHL F
(2) Dimethylglyoxime functions as i
bidentate ligand. 2) <& fograe derht %1
(3)  Red complex has a square planar wifg
geometry. :@
B oo
(4) Complex has symmetrical 3
H - bonding.
(4) o AiAd H - 54 g &
~OH o
dimethylglyoxime = 3§ %)@ - OH
ime oxime = o
yigly H,CZC=N H3C C N
“OH H,C-C= N_
- - “OH
For real gases van der Waals equation )
Wnttenags 1 @ 96. arfa¥ 6l F ford 4 <t e w3
@ vR feram wm & -
an?
P+72- (V=nb)=n RT anz
g@ P+ 7 | (V-nb)=nRT
where “a’ and ‘b’ are vam der Waals . )
constants, a@ STET ‘2’ 3 ‘b’ 37 T arew feemis ¥
Two sets of gases are : % o~ R Ech
(O 0,C0o,H @ {I) 0, CO, H, 3R He
(I CH, 02 (I) CHy, O, 3T 1,

The gases gi set-lin increasing order
of ‘b’ and g@wen in set-Ilin decreasing
order o?%; re arranged below. Select
the co rder from the following :
(1), (¥H,<He<0,<CO, (II) CH,>0,>H,
M H,<0,<He<CO, (I) 0O,>CH,>H,
3 I He<H,<CO,<0, (1) CH,>H,>0O,
() (0 O;<He<H,<CO, (II) H,>0,>CH,

@E—Iﬁﬁns‘ﬂﬁaﬁ’b'%agﬁgqmﬁe'ﬁx
A NARE AN A2 F R gwan A3
oafeRr fohar T &1 57 @ Wt vy e
i

(1) (D Hy<He<0,<CO, (i) CH,>0,>H,
(2) () H<O,<He<CO, (I) O,>CH,>H,
(3) (1) He<H,<C0,<0, (I) CH,>H,>0,
(4) () Op<He<H,<CO, (Il) H,>0,>CH,
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97.  Which one of the followinyg does not
correctly represent the correct order of the
property indicated against it ?

(1) Ti<V<Cr<Mn:increasing melting
points

(2) Ti<V <Mn < Cr: increasing 2nd
ionization enthalpy

(3) Ti<V<Cr<Mn:increasing number
of oxidation states

@) Tt < V3% < 3t < M3
increasing magnetic moment

98. In the replacement reaction
=CI+ MF~—>—CF + MI
The reaction will be most favourable if M
happens to be :

(1) Rb

2y L

(3) Na @
4) K

99. During change of O, t
electron adds on whi
following orbitals ?

(1}  o* orbital

(2) o orbital @
3y =* 01‘bit@

(4) ar orbi

100. Whic he following compounds will
give% llow precipitate with iodine and"
a 7
(137 Acetamide

) 2 - Hydroxypropane
(3) Acetophenone
(4) Methyl acetate

97/ Freafafiag § w9 37 @A fafaa

e D

Ti<V <Cr < Mn: dedi '

(2) Ti<v<Mn<Cr:a@ ST
et
(3) Ti<V<Crs< staedrEi

Pt < Mn?t : =gl

&

~

>C
%ﬁwﬁﬁwaﬁa@iﬁaﬁwlm

@@% Rb_

F—> — CF + MI

2) Li
3)
4)

Z

a

~

(
(

%og s 3 e 2 T et
1 sifdee § & frm § soa aw )

}m./ﬁm*rmﬁﬁafnm@qmwaa
Y GiE 7 1 IFEY M ?

(1) UHAES

Lz 2wt

(3) UHREER

(4) Afua tdiee
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101. Given that the equilibrium constant for the_ 107, ©% ﬁq}q;ﬂm w, Afufaa @
reaction
2g) T 2(g) T = 7V5(g) W1 A0 278 foa man &1 s A w
has a value of 278 at a particular . .
temperature. What is the value of the f_r‘”,a_; M —— é@
equilibrium constant for the following e SOy, =80, 4+ 1 0 h
reaction at the same temperature ? ’{_ 3(g) 2(e) Y ﬂg)/©
- ) -— % T 91 feerier &7 o ?
503(g) = 50yg) + /292(g) 1 (1) ~6.0x10-2 @ b3
(1) 6.0x10~2 | ‘y/1.3x10-5 —ANE
(2) 13x10-5 (3} 1.8x10-3 G
&

(3) 1.8x10-3 218 } \‘2 (4) 3.6x10-3 Bt o S

_3 — .
@) 3.6x10 o CJG\)/ &

——

102. Four diatomic species are listed below.

_ o
tM S N e ¥ o3
a8l #n

FifT foed 3 % sy 1¢

Identify the correct order in which the VN N TS
bond order is increasing in them : FET H ' jé/ ~ I
2 + -

(1) C3™< Hej<0; <NO (1) < }}ez <0, <NO > ;
‘ NS

() He; <07 <NO< 2 He, < 0; G g
- 2- +

(3) NO< 0, < C§—< He; @(3) NO <.92 < C3 < Hep<

g 1o 2 4 0; <NO< cg‘@
(4) 02 <NQO < C2 < He?_ @ ")C ffélq,e_..’—

103. An organic compound (C3H, (;),\M 3. T it A E‘;(CngN) (A), Bt~ ”5%“ ;
when treated with nitrous acid an 3T & |1 w@m?ﬁwﬂ

alcohol and N, gas was evoly {A) on fea st N, Ry Frareft (A) ®I CHCI, 3R
warming with CHCl, and ¢apss =3

©) which N C'pOtaSh Ffws Tere % w19 7 6 7 (¢ I g 104
gave which on fe ion gave »
isopropylmethylamin Predict the S st aﬁmm‘s‘eﬁq‘rﬁaﬂﬂ@iﬁnﬁml

structure of (A). @ (A) St =1 Ht srr{[ﬁb- Fifeg - |
(1) CH- N - (1) CHy;-N —CH%l

K ] »

CHs - CH; '

()  CHyCHYOH, - NH, (2)  CH,CH,CH,-NH,

o .
(3) - CH-NH, (3 CH— CH- NH,

‘ 3

(4 3CH, -NH-CH, (4) CH,CH, ~NH-CH,

: o S S
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104. Which one of the following sets forms the
biodegradable polymer ?

(1) HO-CH,—-CH,;~0OH and

HOOC - @COOH
@ CH=CH, and

CH,=CH-CH=CH,

2

CH,=CH-CN and
CH,=CH-CH=CH,

H,N—-CH, - COOH and
H,N = (CHy)s— COOH

105. Consider the reaction :
RCHO + NHzNH2—>RCI—I =N-NH,
What sort of reaction is it ?

Electrophilic  substitution
elimination reaction

Nucleophilic addition - elimination
reaction

Electrophilic addition - elimina @

reaction

Eree radical addition - eli%%tion
reaction @

Consider the fo[lowing@g)tion :
©/COC1

aSO4 .
The produ; (AD1s :

¢HsCHO
C,H-OH

)

106.

)

C

4 Frer 39 A @ i = S Safrrm e agew
A Y ?

N

(1) HO-CH,—CH,—OH #R

HOOC — @—COOH 5@0
2) @ CH= CH, 3#\1@

CH2=CH—*CH=C@
(3) CH,=CH-CN
CH,=CH-C
\/HN OOHS—‘ﬁT
—~COOH

e a@www
@ﬂ NH,NH,—»RCH =N -NH,

mﬁaﬁm@

@(1) sﬁmﬁ@mmﬁm
} @) iR Heaer-faeid atafen
TR Fehar-faeir sufwan

@) W fewhe Heaaa-faer afufwa

)ﬁﬂmﬁﬁmmﬁﬁtﬁﬁm:

cocCl H,

Pd — BaSO,

| IAI
Lo /

IAE A’ ®
(1) CgHsCOCH,

(2) GgHsCl
C¢HsCHO

(4) C,H.OH
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107. Siandard reduction potentials of the half
reactions are given below : -
N - - - 0
by 26 —2F (ag s E°=+285V
Clyy ¥ 2e™22C17 5 EO= +136 V

Mﬁﬁm%mmﬁiwﬂ&

e g
Fz(g) +2¢‘-—>2F‘(aq) ; E° = +2. >
= %1

- _ (a) _ Clz(g)+2e‘—>—2CI‘(aq); E°= \'%
Brz(l)* 2e " —2Br (aq; E9=+106V Br2(1)+2e‘—+28r‘(a ), EO=+T
12(5) i 2e ”—>ZI_(aq) ; E®= 4053V 12(5) +2e“*>21*(aq) ,q EV
The strongest oxidising and reducing Wﬁﬁﬂ%am FI: E -
agents respectively are : A 3/4 N t?( Bem %
(1) Cl; and Br~ {m(n g\m (1) 2 T
(2) ClyandT, 4¢@o ) @) glLaar,
(3) FyandI- A Frquri-

(4} Bry,and C1-

packed (c.c.p). The cubic unit cell of mixed

108. Structure of a mixed oxide is cubic close - 108. uw fay %@{ﬁaﬁw e Wﬁ:ﬁi (c.cp)

oxide is composed of oxide ions. One i : F T W . ;
fourth of the tetrahedral voids are occupied TG ¥ g fiom v
by divalent metal A and the octahedral I il es o o TG A BRI W g3 §
voids are occupied by a monovalent metal AR e T THEAEE YT B A
B. The formula of the oxide s - @ ——_— g d

(1) A0, O AN

2 ABO, } (2; AB,O,

(3) ABO, @ ‘) ABz 022

109. Activation energy (E,) and rate %ants ‘%]9

(k, and k,) of a chemical reac@ at two
different temperatures (Ty(and'T,) are

related by ;
ky
1 in 7
(1) n k,
ky
2y ln
@ ns
®) ki "7 R
ky
[n kl = -

. Rl A, T, 9o T, W ouw st @




110.

111.

112.

Equal volumes of two monoatomic gases,
A and B, at same temperature and pressure
are mixed. The ratio of specific heats
(Cp/ C,) of the mixture will be:

1) 3.3

2) 1.67 C(’/,/Y

(3) 0.8 A .
(N~

@) 1.50 4"

In which of the following arrangements
the given sequence is not strictly according
to the property indicated against it 7

(1) NH, < PH, < AsH, < SbH; :

increasing acidic character

increasing oxidising power.

(3) HF < HCl < HBr < HI : incr@ng

acidic strength

H,0 <H,S < H,S
increasing pK, valu@

'( Aom) at infinite

H,Te

Molar conducty

dilution of N Cl and CH;COONa are
126.4, 42 nd 91.0 $ cm? mol !
respegh Ay for CH,COOH will be :

1)@08 S cm? mol !

® 3905 S cm?2 mol !
(3) 42555 cm? mol ™!

(4) 1805 S cm? mol ™!

4

4B

o 2 Y

A B&
a1q 3R Te ) e s £ fq

aﬁfmm(c /C) ma@m?@

1) 3.3 @
\_)2,)/ 1.67

(3) 0.83 Q©

(4) %

1.50

3§ o fean T wE § AR
ffed oed & STTER AR

Tt RN
(2) CO, < Si0, < SnO, < PbO, : w&d
Siicaicainie i
HF < HCl < HBr < HI : 8@ 371
et

(4)  H,O <H,S < H,Se < H,Te : & pK,,

aH

//}Fi'_v! T W, NaCl, HCL g CH3COONa

1 TR TeTEatd ( A, ) AT 126.4,425.9
41 91.0 S cm? mol ! ¥, CH;COOH #t

Ay BT :
(1) 290.8 Scm? mol~!
#3905 S cm? mol !

(3) 42555 cm? mol ™!

(4) 1805 S cm? mot ™!
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113. Which of the following reagents will be
able to distinguish between 1-butyne and
2-butyne ?

1 O

(2) Br,

(3) NaNH,
4) HCl

114. Which of the following exhibits only +3
oxidation state ?

(1) Ac ,
@ pa Cale i dzie
1A m_

(4) Th

N7

energy :

el
115, mow spin complex bf d® - cation in-z
octahedral Tield WAIl have the fo {*} )5/

2
(1) —=A_+2P

2
2) —-A +P

(3) 2 @
5
%

octahedral field,

&%1-@@%?3?112-@{6@?13'%3@%
fre sforpren & @ = A 2 @

1) oxX 0
J* o
(4). HCl 2 @%Q
ks ES@
@%@0
oy
@ U

(4

+3 Y9I arawy yefilq

-1z
4) —5-A,+3P |
(A, = STEFTHE Wes ¥ firred & fagre
B

= Electron paiﬁng energy)

P= Soiagit grig Foi)

e




116. The orbital angular momentum of a

117.

118.

p - electron is given as :

0 B

(2) \/EAzh—ﬂ @,
h

® T A

@) JE;—W

Given the reaction between 2 gasesq

represented by A, and B, to give
compound AB(g).

Asig) tBagy =2 ABrgy.

At equilibrium, the concentration
of Ay=30x10"3 M

of B,=42x1073 M

of AB=28x10"* M

If the reaction takes place ina se

o

vessel

45

G

116/ TF p - ST &1 fded Hia Ha

G

C

e

W AB,) e o § 1

@) +Byg =2 ABy

T A, B,AT AB F! W= 6 ¥hN &
A, ® FEA@=30x10"3 M

B, Al WEAI=4.2x1073 M

AB &I HEai=28%x10"3M
Tfe 527°C W a1fufEan v o e § B &

at 527°C, then the value of K be : K. &1 A Gl e
. _ 'v:gj

(1) 0.62 _ : 0.62 =

(2) 45 _ ’)g%& 7 y/%l(z) 4.5 ' @

@ 20 2 L (3) 2.0 @}(

4) 1.9 3 X , M’*) L2 S L
.0 @ g / . 2 =" {

@loroa@icol is an : P4 & }‘ '9

(1) tiseptic and disinfectant M W’ﬂ ¥ i

( tibiotic - broad spectrum ‘ e -Te T 87
antifertility drug (3) afeforem g

4)  antihistaminic 4) wfafewafit
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119. Four successive members of the first series
of the transition metals are listed below.

For which one of them the standard

potential (Efdz+’,M ] value has a positive

sign ?

(1) Cu (Z=29)
(2) Fe (Z=26)
(3) Co (Z=27)
(4) Ni(Z=28)

120. The catalytic activity of transition metals \
and their compounds is ascribed mainly
to: ‘

(1)  their ability to adopt variable
oxidation states

(2)  their chemical reactivity @

(3)  their magnetic behaviour @

O

their unfilled d - orbita]

@

119, wu@aﬁaﬁqm%ﬂ%@%

mﬁaﬁ—mmﬁ%fﬁ@aﬁ
m%%rﬁﬁséfaﬂa H AE
ﬁﬁ'am%7
Cu (Z=29)
(2) Fe(z= 25@
Co (Z
4)

r«%

(2) ¥ TETEfTE sfifwersien
(3) IR gHHIY HFEN
@/mmd-mﬁa@
~-00o-

OOH A= Ng )

126y







